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x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.1”
”strong=”c/3318|�������/�� x-morph=”OSHM:HC/Vqw3fs”
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”strong=”d/2595|�������/��� x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”1.1.0” strong=”m/310|�/��������/��
a” x-morph=”OSHM:HR/R/Sp3ms” x-
cantillationLevel=”1.1” ”strong=”c/5307|�������/��
x-morph=”OSHM:HC/Vqw3ms”������|strong=”8033”
x-morph=”OSHM:HD” x-cantillationLevel=”1.0”
”strong=”c/4191|�������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”8478|�/��� x-morph=”OSHM:HR/Sp3ms”
x-wType=”x-ketiv” 4 ”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”0.0.0.0”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”�����/���|strong=”d/935”
x-morph=”OSHM:HTd/Vqrmsa” ”strong=”413|����
x-morph=”OSHM:HR”��������/���|strong=”d/4725”
x-morph=”OSHM:HTd/Ncmsa” strong=”834|������
a” x-morph=”OSHM:HTr”�������|strong=”5307”
x-morph=”OSHM:HVqp3ms” ”strong=”8033|�����
x-morph=”OSHM:HD” ”strong=”6214|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.0”
”strong=”c/4191|�������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0.0” ”strong=”c/5975|�����������/���
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”0”�
24 ”strong=”c/7291|������������/���
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”1.0.0”
”strong=”3097|������� x-morph=”OSHM:HNp”
”strong=”c/52|����������/�� x-
morph=”OSHM:HC/Np” x-cantillationLevel=”1.0”
strong=”310|�������� a” x-morph=”OSHM:HR”
”strong=”74|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”c/d/8121|���������/��/��
x-morph=”OSHM:HC/Td/Ncbsa” ”strong=”935|�������
x-morph=”OSHM:HVqp3fs” x-cantillationLevel=”0.3”
”strong=”c/1992|�������/�� x-morph=”OSHM:HC/Pp3mp”
x-cantillationLevel=”0.2.1” ”strong=”935|�������
x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”0.2.0”
”strong=”5704|��� x-morph=”OSHM:HR”����������|strong=”1389”
x-morph=”OSHM:HNcfsc” ”strong=”522|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.2”
strong=”834|������� a” x-morph=”OSHM:HTr”
x-cantillationLevel=”0.1.0” strong=”5921|���
a” x-morph=”OSHM:HR”�������|strong=”6440”
x-morph=”OSHM:HNcbpc”�������|strong=”1520”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”1870|�������� x-morph=”OSHM:HNcbsc”

x-cantillationLevel=”0.0” strong=”4057|���������
b” x-morph=”OSHM:HNcmsc” ”strong=”1391|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
25 ”strong=”c/6908|���������������/��
x-morph=”OSHM:HC/Vtw3mp” strong=”1121|������
a” x-morph=”OSHM:HNcmpc”�����������|strong=”1144”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
strong=”310|�������� a” x-morph=”OSHM:HR”
”strong=”74|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” ”strong=”c/1961|���������/��
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”1.0”
”strong=”l/92|���������/�� x-morph=”OSHM:HR/Ncfsa”
”strong=”259|������ x-morph=”OSHM:HAcfsa”
x-cantillationLevel=”1” ”strong=”c/5975|������������/��
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”0.1”
strong=”5921|���� a” x-morph=”OSHM:HR”
strong=”7218|����� a” x-morph=”OSHM:HNcmsc”����������|strong=”1389”
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0”
”strong=”259|������ x-morph=”OSHM:HAcfsa”
x-cantillationLevel=”0”� 26 ”strong=”c/7121|���������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”74|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.2.0”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”3097”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.2”
”strong=”c/559|���������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.2.1” ”strong=”i/l/5331|�������/��/��
x-morph=”OSHM:HTi/R/Ncmsa” x-cantillationLevel=”1.2.0”
”strong=”398|�������� x-morph=”OSHM:HVqi3fs”
”strong=”2719|������ x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1.2” ”strong=”i/3808|�����/��
x-morph=”OSHM:HTi/Tn” ”strong=”3045|�����������
x-morph=”OSHM:HVqp2ms” x-cantillationLevel=”1.1”
strong=”3588|����� a” x-morph=”OSHM:HC”�������|strong=”4751”
x-morph=”OSHM:HAafsa” ”strong=”1961|��������
x-morph=”OSHM:HVqi3fs” x-cantillationLevel=”1.0”
”strong=”b/314|�����������/���
x-morph=”OSHM:HRd/Aafsa” x-cantillationLevel=”1”
”strong=”c/5704|���/�� x-morph=”OSHM:HC/R”�������|strong=”4970”
x-morph=”OSHM:HTi” x-cantillationLevel=”0.1.0”
”strong=”3808|���� x-morph=”OSHM:HTn”��������|strong=”559”
x-morph=”OSHM:HVqi2ms” strong=”l/5971|����/��
a” x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0.1”
”strong=”l/7725|������/�� x-morph=”OSHM:HR/Vqc”

4+ ”strong=”8478|�/�����������/��� x-morph=”OSHM:HR/Sp3ms” x-
cantillationLevel=”1”
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x-cantillationLevel=”0.0” strong=”m/310|��������/��
a” x-morph=”OSHM:HR/R” ”strong=”251|����/�����
x-morph=”OSHM:HNcmpc/Sp3mp” x-
cantillationLevel=”0”� 27 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”3097|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2”
strong=”2416|���� a” x-morph=”OSHM:HAamsa”
x-cantillationLevel=”1.1.0” ”strong=”d/430|���������/���
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.1”
strong=”3588|����� a” x-morph=”OSHM:HC”
”strong=”3884|������� x-morph=”OSHM:HC”
x-cantillationLevel=”1.0” ”strong=”1696|������������
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”strong=”c/5975|������������/��
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”1.1.0”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”����/���|strong=”d/5971
a” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1”
”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”������������|strong=”7291”
x-morph=”OSHM:HVqi3mp” ”strong=”5750|�����
x-morph=”OSHM:HD” x-cantillationLevel=”1.0”
strong=”310|�������� a” x-morph=”OSHM:HR”
”strong=”3478|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn”���������|strong=”3254”
x-morph=”OSHM:HVqp3cp” ”strong=”5750|�����
x-morph=”OSHM:HD” x-cantillationLevel=”0.0”
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x-morph=”OSHM:HR/VNc” x-cantillationLevel=”0”�
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x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”1.1.0”
”strong=”b/6160|��������/����
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x-morph=”OSHM:HTd/Np” x-cantillationLevel=”0.1”
”strong=”c/935|���������/�� x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”0.0” ”strong=”4266|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
30 ”strong=”c/3097|�������/�� x-
morph=”OSHM:HC/Np” x-cantillationLevel=”1.1.1”
”strong=”7725|����� x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”1.1.0” strong=”m/310|��������/��
a” x-morph=”OSHM:HR/R” ”strong=”74|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”c/6908|����������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.0”
”strong=”853|��� x-morph=”OSHM:HTo”�����|strong=”3605”
x-morph=”OSHM:HNcmsc”����/���|strong=”d/5971
a” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1”
strong=”c/6485|�������������/��
a” x-morph=”OSHM:HC/VNw3mp” x-
cantillationLevel=”0.0.0.0” ”strong=”m/5650|��������/��
x-morph=”OSHM:HR/Ncmpc” ”strong=”1732|������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.0”
”strong=”8672|���������� x-morph=”OSHM:HAcmsa”��������|strong=”6240”
x-morph=”OSHM:HAcmsa” ”strong=”376|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0”
”strong=”c/6214|������/�� x-morph=”OSHM:HC/Np”�����|strong=”410”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
31 ”strong=”c/5650|��������/��
x-morph=”OSHM:HC/Ncmpc” ”strong=”1732|������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1”
”strong=”5221|������� x-morph=”OSHM:HVhp3cp”
x-cantillationLevel=”1.1.0” ”strong=”m/1144|�����������/��
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morph=”OSHM:HVqrmpa” ”strong=”c/1800|��������/��
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cantillationLevel=”0”� � 2
”strong=”c/3205|����/� x-
morph=”OSHM:HC/Vqw3mp” x-
wType=”x-ketiv” 5 6 Adapta-
tions to a Qere which L and BHS,
by their design, do not indicate.
”strong=”l/1732|������/��
x-morph=”OSHM:HR/Np” x-
cantillationLevel=”1.0.0” strong=”1121|��������
a” x-morph=”OSHM:HNcmpa” x-
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cantillationLevel=”0.0” ”strong=”d/3159|��������������/��

5+ ”strong=”c/3205|������������/������/� x-morph=”OSHM:HC/VNw3mp”
6a
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x-morph=”OSHM:HTd/Ngfsa”
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”strong=”c/4932|���/��������/��
x-morph=”OSHM:HC/Ncmsc/Sp3ms”
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morph=”OSHM:HNp” x-cantillationLevel=”1.2”
”strong=”l/26|�����/� x-
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cates a typographical error in
BHS. ”strong=”802|�������
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x-morph=”OSHM:HNp” x-cantillationLevel=”1”
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x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
5 ”strong=”c/d/8345|����������/��/��
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a” x-morph=”OSHM:HR/Np” x-
cantillationLevel=”0”� � 6
”strong=”c/1961|������/�� x-
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cantillationLevel=”1.2.1” ”strong=”b/1961|�������/����
x-morph=”OSHM:HR/Vqc” x-
cantillationLevel=”1.2.0” ”strong=”d/4421|�����������/��
x-morph=”OSHM:HTd/Ncfsa” x-
cantillationLevel=”1.2” ”strong=”996|������
x-morph=”OSHM:HR” x-cantillationLevel=”1.1.0”
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morph=”OSHM:HNcmsc” ”strong=”7586|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”c/996|�����/�� x-
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morph=”OSHM:HNcmsc” ”strong=”1732|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/74|��������/��
x-morph=”OSHM:HC/Np” x-
cantillationLevel=”0.0.0” ”strong=”1961|������
x-morph=”OSHM:HVqp3ms” ”strong=”2388|�����������
x-morph=”OSHM:HVtrmsa” x-
cantillationLevel=”0.0” strong=”b/1004|�����/���
b” x-morph=”OSHM:HR/Ncmsc”
”strong=”7586|�������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0”�
7 ”strong=”c/l/7586|��������/��/��
x-morph=”OSHM:HC/R/Np” ”strong=”6370|����������
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x-morph=”OSHM:HC/Ncmpc” x-
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16+ ”strong=”8130|������������� x-morph=”OSHM:HVqsmpc” x-
cantillationLevel=”1.0”
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Marks an anomalous form. 18
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17n
18p We read punctuation in L differently from BHS.
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x-morph=”OSHM:HNgmpa” x-cantillationLevel=”1.0”
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x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.0”



38 CONTENTS

”strong=”3808|���� x-morph=”OSHM:HTn”
”strong=”5927|�������� x-morph=”OSHM:HVqi2ms”
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19+ ”strong=”k/8085|���/�������/�����/���/� x-morph=”OSHM:HR/Vqc/Sp2ms”
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x-cantillationLevel=”1” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn”����������|strong=”3254”
x-morph=”OSHM:HVhi3mp” strong=”1121|������
a” x-morph=”OSHM:HNcmpc”���������|strong=”5766
b” x-morph=”OSHM:HNcbsa” x-
cantillationLevel=”0.1.0” strong=”l/6031|��/��������/��
b” x-morph=”OSHM:HR/Vpc/Sp3ms”
x-cantillationLevel=”0.1” strong=”k/834|�������/���
d” x-morph=”OSHM:HR/Tr” x-cantillationLevel=”0.0”
”strong=”b/7223|�����������/���
x-morph=”OSHM:HRd/Aafsa” x-
cantillationLevel=”0”� 11 strong=”c/l/4480|���/��/��
a” x-morph=”OSHM:HC/R/R”������/���|strong=”d/3117”
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.1.1” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”6680|����������
x-morph=”OSHM:HVpp1cs” ”strong=”8199|�����������
x-morph=”OSHM:HVqrmpa” x-cantillationLevel=”1.1.0”

strong=”5921|��� a” x-morph=”OSHM:HR”�/�������|strong=”5971
a” x-morph=”OSHM:HNcmsc/Sp1cs”
”strong=”3478|����������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”c/5117|�����������/��
x-morph=”OSHM:HC/Vhq1cs” ”strong=”l|���/��
x-morph=”OSHM:HR/Sp2ms” x-cantillationLevel=”1.0”
”strong=”m/3605|����/�� x-morph=”OSHM:HR/Ncmsc”��/���������|strong=”341”
x-morph=”OSHM:HVqrmpc/Sp2ms”
x-cantillationLevel=”1” ”strong=”c/5046|��������/��
x-morph=”OSHM:HC/Vhq3ms” ”strong=”l|���/��
x-morph=”OSHM:HR/Sp2ms” x-cantillationLevel=”0.1.0”
”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” strong=”3588|����
a” x-morph=”OSHM:HC”�������|strong=”1004
b” x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”0.0” strong=”6213|��������
a” x-morph=”OSHM:HVqi3ms”���/����|strong=”l”
x-morph=”OSHM:HR/Sp2ms” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
12 strong=”3588|����� a” x-morph=”OSHM:HC”
x-cantillationLevel=”1.2.1.0” � ”strong=”4390|����������
x-morph=”OSHM:HVqi3mp” ”strong=”3117|��/������
x-morph=”OSHM:HNcmpc/Sp2ms”
x-cantillationLevel=”1.2.1” ”strong=”c/7901|������������/��
x-morph=”OSHM:HC/Vqq2ms” x-cantillationLevel=”1.2.0”
”strong=”854|��� x-morph=”OSHM:HR”��/���������|strong=”1”
x-morph=”OSHM:HNcmpc/Sp2ms”
x-cantillationLevel=”1.2” strong=”c/6965|�����������/��
b” x-morph=”OSHM:HC/Vhq1cs” ”strong=”853|����
x-morph=”OSHM:HTo”���/�������|strong=”2233”
x-morph=”OSHM:HNcmsc/Sp2ms”
x-cantillationLevel=”1.1.0” strong=”310|��/��������
a” x-morph=”OSHM:HR/Sp2ms” x-
cantillationLevel=”1.1” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”3318|������
x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”1.0”
”strong=”m/4578|��/�������/��
x-morph=”OSHM:HR/Ncmpc/Sp2ms”
x-cantillationLevel=”1” strong=”c/3559|�����������/��
a” x-morph=”OSHM:HC/Vhq1cs” x-
cantillationLevel=”0.0” ”strong=”853|���
x-morph=”OSHM:HTo”��/������������|strong=”4467”
x-morph=”OSHM:HNcfsc/Sp3ms” x-
cantillationLevel=”0”� 13 ”strong=”1931|�����
x-morph=”OSHM:HPp3ms” ”strong=”1129|�������
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x-morph=”OSHM:HVqi3ms”��������|strong=”1004
b” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0”
”strong=”l/8034|�/������/�� x-
morph=”OSHM:HR/Ncmsc/Sp1cs” x-
cantillationLevel=”1” strong=”c/3559|�����������/��
a” x-morph=”OSHM:HC/Voq1cs” x-
cantillationLevel=”0.0.0” ”strong=”853|���
x-morph=”OSHM:HTo”���������|strong=”3678”
x-morph=”OSHM:HNcmsc” ”strong=”4467|��/�����������
x-morph=”OSHM:HNcfsc/Sp3ms” x-
cantillationLevel=”0.0” ”strong=”5704|���
x-morph=”OSHM:HR”��������|strong=”5769”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�
14 ”strong=”589|������ x-morph=”OSHM:HPp1cs”
x-cantillationLevel=”1.1.0” ”strong=”1961|�������
x-morph=”OSHM:HVqi1cs”��/����|strong=”l”
x-morph=”OSHM:HR/Sp3ms” ”strong=”l/1|����/��
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1.1”
”strong=”c/1931|�����/�� x-morph=”OSHM:HC/Pp3ms”
x-cantillationLevel=”1.0” ”strong=”1961|�������
x-morph=”OSHM:HVqi3ms”�/�����|strong=”l”
x-morph=”OSHM:HR/Sp1cs” strong=”l/1121|����/��
a” x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1”
strong=”834|������� a” x-morph=”OSHM:HTr”
x-cantillationLevel=”0.2.0” strong=”b/5753|��/���������/���
b” x-morph=”OSHM:HR/Vhc/Sp3ms”
x-cantillationLevel=”0.2” ”strong=”c/3198|��/�����������/��
x-morph=”OSHM:HC/Vhq1cs/Sp3ms”
x-cantillationLevel=”0.1.0” ”strong=”b/7626|�������/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”376|����������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.1”
”strong=”c/b/5061|��������/��/��
x-morph=”OSHM:HC/R/Ncmpc” x-cantillationLevel=”0.0”
strong=”1121|������� a” x-morph=”OSHM:HNcmpc”
”strong=”120|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 15 strong=”c/2617|�/��������/��
a” x-morph=”OSHM:HC/Ncmsc/Sp1cs”
x-cantillationLevel=”1.0” ”strong=”3808|���
x-morph=”OSHM:HTn”��������|strong=”5493”
x-morph=”OSHM:HVqi3ms” strong=”4480|����/������
a” x-morph=”OSHM:HR/Sp1cp” x-cantillationLevel=”1”
strong=”k/834|�������/��� d” x-
morph=”OSHM:HR/Tr” ”strong=”5493|�����������
x-morph=”OSHM:HVhp1cs” x-cantillationLevel=”0.1.0”
strong=”m/5973|����/�� b” x-morph=”OSHM:HR/R”
”strong=”7586|�������� x-morph=”OSHM:HNp”

x-cantillationLevel=”0.1” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”5493|����������
x-morph=”OSHM:HVhp1cs” x-cantillationLevel=”0.0”
”strong=”m/l/6440|��/������/���/��
x-morph=”OSHM:HR/R/Ncbpc/Sp2ms”
x-cantillationLevel=”0”� 16 ”strong=”c/539|��������/��
x-morph=”OSHM:HC/VNq3ms” strong=”1004|���/������
b” x-morph=”OSHM:HNcmsc/Sp2ms”
”strong=”c/4467|���/������������/��
x-morph=”OSHM:HC/Ncfsc/Sp2ms”
x-cantillationLevel=”1.0.0” ”strong=”5704|���
x-morph=”OSHM:HR”��������|strong=”5769”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0”
”strong=”l/6440|��/������/�� x-
morph=”OSHM:HR/Ncbpc/Sp2ms” x-
cantillationLevel=”1” ”strong=”3678|���/��������
x-morph=”OSHM:HNcmsc/Sp2ms” x-
cantillationLevel=”0.1” ”strong=”1961|��������
x-morph=”OSHM:HVqi3ms” strong=”3559|�������
a” x-morph=”OSHM:HVNrmsa” x-cantillationLevel=”0.0”
”strong=”5704|��� x-morph=”OSHM:HR”��������|strong=”5769”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�
17 ”strong=”k/3605|����/��� x-morph=”OSHM:HR/Ncmsc”
x-cantillationLevel=”1.1.0” ”strong=”d/1697|����������/��
x-morph=”OSHM:HTd/Ncmpa” ”strong=”d/428|�������/��
x-morph=”OSHM:HTd/Pdxcp” x-cantillationLevel=”1.1”
”strong=”c/k/3605|����/��/�� x-morph=”OSHM:HC/R/Ncmsc”
x-cantillationLevel=”1.0” ”strong=”d/2384|����������/��
x-morph=”OSHM:HTd/Ncmsa” ”strong=”d/2088|�����/��
x-morph=”OSHM:HTd/Pdxms” x-cantillationLevel=”1”
strong=”3651|����� c” x-morph=”OSHM:HTm”
x-cantillationLevel=”0.0.0” ”strong=”1696|��������
x-morph=”OSHM:HVpp3ms” ”strong=”5416|������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”1732”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
� 18 ”strong=”c/935|�������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.1.0”
”strong=”d/4428|��������/�� x-
morph=”OSHM:HTd/Ncmsa” ”strong=”1732|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”c/3427|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.0” ”strong=”l/6440|������/��
x-morph=”OSHM:HR/Ncbpc” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
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x-cantillationLevel=”0.1.1” ”strong=”4310|����
x-morph=”OSHM:HTi” ”strong=”595|��������
x-morph=”OSHM:HPp1cs” x-cantillationLevel=”0.1.0.0”
”strong=”136|�/������� x-morph=”OSHM:HNcmpc/Sp1cs”
”strong=”3069|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1.0” ”strong=”c/4310|����/��
x-morph=”OSHM:HC/Ti” strong=”1004|�/������
b” x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”0.1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”935|���/����������
x-morph=”OSHM:HVhp2ms/Sp1cs” x-
cantillationLevel=”0.0” ”strong=”5704|���
x-morph=”OSHM:HR”�������|strong=”1988”
x-morph=”OSHM:HD” x-cantillationLevel=”0”�
19 ”strong=”c/6994|���������/��
x-morph=”OSHM:HC/Vqw3fs” ”strong=”5750|�����
x-morph=”OSHM:HD” ”strong=”2063|�����
x-morph=”OSHM:HPdxfs” strong=”b/5869|���/�������/���
a” x-morph=”OSHM:HR/Ncbdc/Sp2ms”
x-cantillationLevel=”1.1.0” ”strong=”136|�/�������
x-morph=”OSHM:HNcmpc/Sp1cs” ”strong=”3069|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”c/1696|����������/��
x-morph=”OSHM:HC/Vpw2ms” x-cantillationLevel=”1.0.0”
”strong=”1571|����� x-morph=”OSHM:HTa”
”strong=”413|��� x-morph=”OSHM:HR”�������|strong=”1004
b” x-morph=”OSHM:HNcmsc”���/��������|strong=”5650”
x-morph=”OSHM:HNcmsc/Sp2ms” x-
cantillationLevel=”1.0” ”strong=”l/m/7350|�������/���/��
x-morph=”OSHM:HR/R/Aamsa” x-cantillationLevel=”1”
”strong=”c/2063|�����/�� x-morph=”OSHM:HC/Pdxfs”
x-cantillationLevel=”0.0.0” ”strong=”8452|��������
x-morph=”OSHM:HNcfsc” ”strong=”d/120|������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0”
”strong=”136|�/������� x-morph=”OSHM:HNcmpc/Sp1cs”
”strong=”3069|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 20 ”strong=”c/4100|���/��
x-morph=”OSHM:HC/Ti”����������|strong=”3254”
x-morph=”OSHM:HVhi3ms” ”strong=”1732|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.0”
”strong=”5750|����� x-morph=”OSHM:HD”
x-cantillationLevel=”1.0” ”strong=”l/1696|�������/��
x-morph=”OSHM:HR/Vpc” ”strong=”413|��/������
x-morph=”OSHM:HR/Sp2ms” x-cantillationLevel=”1”
strong=”c/859|�������/�� a” x-morph=”OSHM:HC/Pp2ms”
x-cantillationLevel=”0.0.0” ”strong=”3045|����������

x-morph=”OSHM:HVqp2ms” ”strong=”853|����
x-morph=”OSHM:HTo”���/��������|strong=”5650”
x-morph=”OSHM:HNcmsc/Sp2ms” x-
cantillationLevel=”0.0” ”strong=”136|�/�������
x-morph=”OSHM:HNcmpc/Sp1cs” ”strong=”3069|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
21 ”strong=”b/5668|�������/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”1697|���/��������
x-morph=”OSHM:HNcmsc/Sp2ms” x-
cantillationLevel=”1.2.0” strong=”c/k/3820|���/�����/��/���
a” x-morph=”OSHM:HC/R/Ncmsc/Sp2ms”
x-cantillationLevel=”1.2” strong=”6213|���������
a” x-morph=”OSHM:HVqp2ms” x-cantillationLevel=”1.1”
”strong=”853|���� x-morph=”OSHM:HTo”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”�����������/���|strong=”d/1420”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.0”
”strong=”d/2063|������/�� x-morph=”OSHM:HTd/Pdxfs”
x-cantillationLevel=”1” ”strong=”l/3045|���������/��
x-morph=”OSHM:HR/Vhc” x-cantillationLevel=”0.0”
”strong=”853|��� x-morph=”OSHM:HTo”��/���������|strong=”5650”
x-morph=”OSHM:HNcmsc/Sp2ms” x-
cantillationLevel=”0”� 22 strong=”5921|���
a” x-morph=”OSHM:HR”������|strong=”3651
c” x-morph=”OSHM:HTm” ”strong=”1431|�����������
x-morph=”OSHM:HVqp2ms” x-cantillationLevel=”1.0”
”strong=”136|�/������� x-morph=”OSHM:HNcmpc/Sp1cs”
”strong=”3069|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC”������|strong=”369”
x-morph=”OSHM:HTn” ”strong=”3644|��/�������
x-morph=”OSHM:HR/Sp2ms” x-cantillationLevel=”0.1.1”
”strong=”c/369|�����/�� x-morph=”OSHM:HC/Tn”
”strong=”430|��������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0.1.0” ”strong=”2108|��/���������
x-morph=”OSHM:HR/Sp2ms” x-cantillationLevel=”0.1”
”strong=”b/3605|����/��� x-morph=”OSHM:HR/Ncmsa”
strong=”834|������ a” x-morph=”OSHM:HTr”������������|strong=”8085”
x-morph=”OSHM:HVqp1cp” x-cantillationLevel=”0.0”
”strong=”b/241|���/��������/���
x-morph=”OSHM:HR/Ncfdc/Sp1cp”
x-cantillationLevel=”0”� 23 ”strong=”c/4310|����/��
x-morph=”OSHM:HC/Ti” strong=”k/5971|���/�����/��
a” x-morph=”OSHM:HR/Ncmsc/Sp2ms”
x-cantillationLevel=”1.1.0” ”strong=”k/3478|�����������/���
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.1”
strong=”1471|������ a” x-morph=”OSHM:HNcmsa”
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”strong=”259|������ x-morph=”OSHM:HAcmsa”
x-cantillationLevel=”1.0” ”strong=”b/776|������/���
x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”1”
strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”1980|�������� x-morph=”OSHM:HVqp3cp”����������|strong=”430”
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.2.1.1”
”strong=”l/6299|��������/�� x-morph=”OSHM:HR/Vqc”��/���|strong=”l”
x-morph=”OSHM:HR/Sp3ms” strong=”l/5971|����/��
a” x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0.2.1.0”
strong=”c/l/7760|������/��/��
a” x-morph=”OSHM:HC/R/Vqc” ”strong=”l|��/��
x-morph=”OSHM:HR/Sp3ms” ”strong=”8034|�����
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.2.1”
strong=”c/l/6213|��������/��/��
a” x-morph=”OSHM:HC/R/Vqc” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”0.2.0.0”
”strong=”d/1420|�����������/��
x-morph=”OSHM:HTd/Ncfsa” ”strong=”c/3372|����������/��
x-morph=”OSHM:HC/VNrfpa” x-cantillationLevel=”0.2.0”
”strong=”l/776|��/�������/�� x-
morph=”OSHM:HR/Ncbsc/Sp2ms” x-
cantillationLevel=”0.2” ”strong=”m/6440|�������/��
x-morph=”OSHM:HR/Ncbpc” strong=”5971|���/�����
a” x-morph=”OSHM:HNcmsc/Sp2ms”
x-cantillationLevel=”0.1.1” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”6299|���������
x-morph=”OSHM:HVqp2ms” ”strong=”l|���/���
x-morph=”OSHM:HR/Sp2ms” x-cantillationLevel=”0.1.0”
”strong=”m/4714|�����������/��
x-morph=”OSHM:HR/Np” x-cantillationLevel=”0.1”
strong=”1471|�������� a” x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0.0” ”strong=”c/430|�/�������/��
x-morph=”OSHM:HC/Ncmpc/Sp3ms”
x-cantillationLevel=”0”� 24 strong=”c/3559|�����������/��
a” x-morph=”OSHM:HC/Vow2ms” ”strong=”l|��/���
x-morph=”OSHM:HR/Sp2ms” x-cantillationLevel=”1.0.0.0”
”strong=”853|��� x-morph=”OSHM:HTo”���/������|strong=”5971
a” x-morph=”OSHM:HNcmsc/Sp2ms”
20 We read one or more accents in L
differently than BHS. Often this notation
indicates a typographical error in BHS.
”strong=”3478|����������� x-morph=”OSHM:HNp”
� ”strong=”l|���/�� x-morph=”OSHM:HR/Sp2ms”
x-cantillationLevel=”1.0.0” strong=”l/5971|����/��

a” x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1.0”
”strong=”5704|��� x-morph=”OSHM:HR”��������|strong=”5769”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1”
strong=”c/859|�������/�� a” x-morph=”OSHM:HC/Pp2ms”
”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” ”strong=”1961|��������
x-morph=”OSHM:HVqp2ms” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0.0”
”strong=”l/430|��������/�� x-morph=”OSHM:HR/Ncmpa”
x-cantillationLevel=”0”� � 25 ”strong=”c/6258|�������/��
x-morph=”OSHM:HC/D” x-cantillationLevel=”1.2.0”
”strong=”3068|������� x-morph=”OSHM:HNp”
”strong=”430|��������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1.2” ”strong=”d/1697|�������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.1”
strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”1696|������������ x-morph=”OSHM:HVpp2ms”
strong=”5921|���� a” x-morph=”OSHM:HR”���/��������|strong=”5650”
x-morph=”OSHM:HNcmsc/Sp2ms” x-
cantillationLevel=”1.1.0” strong=”c/5921|���/��
a” x-morph=”OSHM:HC/R”��/�������|strong=”1004
b” x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”1.1” strong=”6965|������
b” x-morph=”OSHM:HVhv2ms” x-cantillationLevel=”1.0”
”strong=”5704|��� x-morph=”OSHM:HR”��������|strong=”5769”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1”
strong=”c/6213|�������/�� a” x-morph=”OSHM:HC/Vqv2ms”
x-cantillationLevel=”0.0” strong=”k/834|�������/���
d” x-morph=”OSHM:HR/Tr” ”strong=”1696|������������
x-morph=”OSHM:HVpp2ms” x-cantillationLevel=”0”�
26 ”strong=”c/1431|���������/��
x-morph=”OSHM:HC/Vqi3ms” ”strong=”8034|���/�����
x-morph=”OSHM:HNcmsc/Sp2ms” ”strong=”5704|���
x-morph=”OSHM:HR”��������|strong=”5769”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.2.0”
”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”1.2” ”strong=”3068|�������
x-morph=”OSHM:HNp” strong=”6635|���������
b” x-morph=”OSHM:HNcbpa” x-cantillationLevel=”1.1”
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x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0.0”
strong=”1121|������� a” x-morph=”OSHM:HNcmpc”
”strong=”5983|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 11 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.1.1”
strong=”518|��� a” x-morph=”OSHM:HC”����������|strong=”2388”
x-morph=”OSHM:HVqi3fs” ”strong=”758|������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
strong=”4480|����/������ a” x-
morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.1”
”strong=”c/1961|��������/�� x-
morph=”OSHM:HC/Vqq3fs” ”strong=”l|�/����
x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.0”
”strong=”l/3467|���������/���
x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”1”
strong=”c/518|���/�� a” x-morph=”OSHM:HC/C”��������|strong=”1121
a” x-morph=”OSHM:HNcmpc” ”strong=”5983|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
”strong=”2388|���������� x-morph=”OSHM:HVqi3mp”
strong=”4480|���/����� a” x-morph=”OSHM:HR/Sp2ms”
x-cantillationLevel=”0.1” ”strong=”c/1980|�����������/��
x-morph=”OSHM:HC/Vqq1cs” x-cantillationLevel=”0.0”

”strong=”l/3467|�����������/��
x-morph=”OSHM:HR/Vhc” ”strong=”l|��/���
x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”0”�
12 ”strong=”2388|������ x-morph=”OSHM:HVqv2ms”
”strong=”c/2388|�����������/��
x-morph=”OSHM:HC/Vth1cp” x-cantillationLevel=”1.1.0”
”strong=”1157|������ x-morph=”OSHM:HR”���/�������|strong=”5971
a” x-morph=”OSHM:HNcmsc/Sp1cp”
x-cantillationLevel=”1.1” ”strong=”c/1157|������/��
x-morph=”OSHM:HC/R” x-cantillationLevel=”1.0”
strong=”5892|������ b” x-morph=”OSHM:HNcfpc”
”strong=”430|���/�������� x-
morph=”OSHM:HNcmpc/Sp1cp” x-
cantillationLevel=”1” ”strong=”c/3068|������/���
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.1”
strong=”6213|��������� a” x-morph=”OSHM:HVqi3ms”
strong=”d/2896|������/�� a” x-
morph=”OSHM:HTd/Aamsa” x-cantillationLevel=”0.0”
strong=”b/5869|�/�������/���
a” x-morph=”OSHM:HR/Ncbdc/Sp3ms”
x-cantillationLevel=”0”� 13 ”strong=”c/5066|���������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”3097|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1”
strong=”c/d/5971|����/��/�� a”
x-morph=”OSHM:HC/Td/Ncmsa” x-cantillationLevel=”1.1.0”
strong=”834|������� a” x-morph=”OSHM:HTr”
strong=”5973|��/����� a” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1.1” ”strong=”l/4421|�����������/��
x-morph=”OSHM:HRd/Ncfsa” x-cantillationLevel=”1.0”
”strong=”b/758|������/���� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1” ”strong=”c/5127|���������/��
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”0.0”
”strong=”m/6440|�/�������/��
x-morph=”OSHM:HR/Ncbpc/Sp3ms”
x-cantillationLevel=”0”� 14 strong=”c/1121|������/��
a” x-morph=”OSHM:HC/Ncmpc” ”strong=”5983|��������
x-morph=”OSHM:HNp” ”strong=”7200|������
x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”1.2.0”
strong=”3588|���� a” x-morph=”OSHM:HC”�����|strong=”5127”
x-morph=”OSHM:HVqp3ms” ”strong=”758|������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2”
”strong=”c/5127|����������/��
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”1.1.0”

23+ ”strong=”3478|����������������/� x-morph=”OSHM:HNp” x-
cantillationLevel=”0.1”
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”strong=”m/6440|�������/�� x-morph=”OSHM:HR/Ncbpc”
”strong=”52|���������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” ”strong=”c/935|���������/��
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”1.0”
strong=”d/5892|�����/�� b” x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”1” ”strong=”c/7725|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”3097|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.1”
strong=”m/5921|����/�� a” x-morph=”OSHM:HR/R”
x-cantillationLevel=”0.1.0” strong=”1121|�������
a” x-morph=”OSHM:HNcmpc” ”strong=”5983|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”c/935|�������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0.0” ”strong=”3389|�������������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
15 ”strong=”c/7200|�������/�� x-
morph=”OSHM:HC/Vqw3ms” ”strong=”758|������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
strong=”3588|����� a” x-morph=”OSHM:HC”
”strong=”5062|������� x-morph=”OSHM:HVNp3ms”
x-cantillationLevel=”1.0” ”strong=”l/6440|������/��
x-morph=”OSHM:HR/Ncbpc” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/622|�����������/��
x-morph=”OSHM:HC/VNw3mp” x-cantillationLevel=”0.0”
strong=”3162|������ a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 16 ”strong=”c/7971|����������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”1909|������������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.2”
”strong=”c/3318|�������/�� x-morph=”OSHM:HC/Vhw3ms”
”strong=”853|��� x-morph=”OSHM:HTo”�������|strong=”758”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1”
strong=”834|������� a” x-morph=”OSHM:HTr”
x-cantillationLevel=”1.1.0” ”strong=”m/5676|������/��
x-morph=”OSHM:HR/Ncmsc” ”strong=”d/5104|�������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1”
”strong=”c/935|���������/�� x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”1.0” ”strong=”2431|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/7731|���������/�� x-
morph=”OSHM:HC/Np” x-cantillationLevel=”0.0.0”
”strong=”8269|���� x-morph=”OSHM:HNcmsc”�������|strong=”6635
a” x-morph=”OSHM:HNcbsc” ”strong=”1909|������������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”l/6440|����/�����/��
x-morph=”OSHM:HR/Ncbpc/Sp3mp”

x-cantillationLevel=”0”� 17 ”strong=”c/5046|��������/��
x-morph=”OSHM:HC/VHw3ms” ”strong=”l/1732|������/��
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.1.1”
� ”strong=”c/622|���������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”853|���
x-morph=”OSHM:HTo”�����|strong=”3605”
x-morph=”OSHM:HNcmsc”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
strong=”c/5674|���������/�� a”
x-morph=”OSHM:HC/Vqw3ms” ”strong=”853|���
x-morph=”OSHM:HTo”����������/���|strong=”d/3383”
x-morph=”OSHM:HTd/Np” x-cantillationLevel=”1.1”
”strong=”c/935|�������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.0” ”strong=”2431|�/��������
x-morph=”OSHM:HNp/Sd” x-cantillationLevel=”1”
strong=”c/6186|�����������/��
a” x-morph=”OSHM:HC/Vqw3mp” ”strong=”758|������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
”strong=”l/7125|�������/�� x-morph=”OSHM:HR/Vqc”
”strong=”1732|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” strong=”c/3898|������������/��
a” x-morph=”OSHM:HC/VNw3mp” x-
cantillationLevel=”0.0” strong=”5973|��/�����
a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0”�
18 ”strong=”c/5127|�������/�� x-
morph=”OSHM:HC/Vqw3ms” ”strong=”758|������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.0”
”strong=”m/6440|�������/�� x-morph=”OSHM:HR/Ncbpc”
”strong=”3478|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2” ”strong=”c/2026|���������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”1732|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1.0”
”strong=”m/758|������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.1.1” ”strong=”7651|�������
x-morph=”OSHM:HAcfsa” ”strong=”3967|�������
x-morph=”OSHM:HAcbpa” x-cantillationLevel=”1.1.0”
”strong=”7393|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1” ”strong=”c/705|������������/��
x-morph=”OSHM:HC/Acbpa” ”strong=”505|������
x-morph=”OSHM:HAcbsa” x-cantillationLevel=”1.0”
strong=”6571|����������� b” x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1” ”strong=”c/853|����/��
x-morph=”OSHM:HC/To” ”strong=”7731|���������
x-morph=”OSHM:HNp” ”strong=”8269|����
x-morph=”OSHM:HNcmsc”��/�������|strong=”6635
a” x-morph=”OSHM:HNcbsc/Sp3ms”
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x-cantillationLevel=”0.0.0” ”strong=”5221|�������
x-morph=”OSHM:HVhp3ms” x-cantillationLevel=”0.0”
”strong=”c/4191|�������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”8033|����� x-morph=”OSHM:HD”
x-cantillationLevel=”0”� 19 ”strong=”c/7200|���������/��
x-morph=”OSHM:HC/Vqw3mp” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”����������/���|strong=”d/4428”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.1.1.0”
”strong=”5650|�������� x-morph=”OSHM:HNcmpc”
”strong=”1909|������������ x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”5062|���������
x-morph=”OSHM:HVNp3cp” x-cantillationLevel=”1.1.0”
”strong=”l/6440|������/�� x-morph=”OSHM:HR/Ncbpc”
”strong=”3478|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” strong=”c/7999|������������/��
a” x-morph=”OSHM:HC/Vhw3mp” ”strong=”854|���
x-morph=”OSHM:HR”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”c/5647|�/������������/��
x-morph=”OSHM:HC/Vqw3mp/Sp3mp”
x-cantillationLevel=”1” ”strong=”c/3372|����������/��
x-morph=”OSHM:HC/Vqw3mp” ”strong=”758|������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”l/3467|����������/��
x-morph=”OSHM:HR/Vhc” ”strong=”5750|�����
x-morph=”OSHM:HD” x-cantillationLevel=”0.0”
”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”1121
a” x-morph=”OSHM:HNcmpc” ”strong=”5983|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
�

11 ”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”l/8666|����������/��

x-morph=”OSHM:HR/Ncfsc” ”strong=”d/8141|��������/��
x-morph=”OSHM:HTd/Ncfsa” x-
cantillationLevel=”1.1.2.1” ”strong=”l/6256|����/��
x-morph=”OSHM:HR/Ncbsc” x-
cantillationLevel=”1.1.2.0” �
”strong=”3318|����� x-morph=”OSHM:HVqc”
”strong=”d/4428|������������/��
x-morph=”OSHM:HTd/Ncmpa” x-
cantillationLevel=”1.1.2” 24 BHS
has been faithful to the Leningrad

Codex where there might be a ques-
tion of the validity of the form and
we keep the same form as BHS.
”strong=”c/7971|����������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”1732|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.1.1.1”
”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”3097”
x-morph=”OSHM:HNp” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”�/���������|strong=”5650”
x-morph=”OSHM:HNcmpc/Sp3ms”
strong=”5973|��/����� a” x-
morph=”OSHM:HR/Sp3ms” x-
cantillationLevel=”1.1.1.0” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”�����|strong=”3605”
x-morph=”OSHM:HNcmsc”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1”
”strong=”c/7843|�������������/��
x-morph=”OSHM:HC/Vhw3mp” x-
cantillationLevel=”1.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”��������|strong=”1121
a” x-morph=”OSHM:HNcmpc”
”strong=”5983|�������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.1”
strong=”c/6696|���������/��
a” x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”1.0” strong=”5921|���
a” x-morph=”OSHM:HR”��������|strong=”7237”
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/1732|������/��
x-morph=”OSHM:HC/Np” x-
cantillationLevel=”0.0” ”strong=”3427|��������
x-morph=”OSHM:HVqrmsa” ”strong=”b/3389|������������/���
x-morph=”OSHM:HR/Np” x-
cantillationLevel=”0”� � 2
”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.1.2.0” �
”strong=”l/6256|����/�� x-
morph=”OSHM:HR/Ncbsc” ”strong=”d/6153|������/��
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.1.2” strong=”c/6965|�������/��
b” x-morph=”OSHM:HC/Vqw3ms”
”strong=”1732|������� x-

241
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morph=”OSHM:HNp” x-cantillationLevel=”1.1.1.0”
strong=”m/5921|����/�� a” x-
morph=”OSHM:HR/R” ”strong=”4904|���/���������
x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”1.1.1” ”strong=”c/1980|�������������/��
x-morph=”OSHM:HC/Vtw3ms” x-
cantillationLevel=”1.1.0” strong=”5921|���
a” x-morph=”OSHM:HR”������|strong=”1406”
x-morph=”OSHM:HNcmsc” strong=”1004|�����
b” x-morph=”OSHM:HNcmsc”��������/���|strong=”d/4428”
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.1” ”strong=”c/7200|�������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”802|�������� x-
morph=”OSHM:HNcfsa” x-cantillationLevel=”1.0.0”
”strong=”7364|�������� x-
morph=”OSHM:HVqrfsa” x-
cantillationLevel=”1.0” strong=”m/5921|����/��
a” x-morph=”OSHM:HR/R” ”strong=”d/1406|�����/��
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1” ”strong=”c/d/802|��������/���/��
x-morph=”OSHM:HC/Td/Ncfsa” x-
cantillationLevel=”0.1” strong=”2896|�������
a” x-morph=”OSHM:HAafsc”
”strong=”4758|�������� x-
morph=”OSHM:HNcmsa” x-
cantillationLevel=”0.0” ”strong=”3966|������
x-morph=”OSHM:HD” x-cantillationLevel=”0”�
3 ”strong=”c/7971|����������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”1732|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”c/1875|����������/��
x-morph=”OSHM:HC/Vqw3ms” x-
cantillationLevel=”1.0” ”strong=”l/802|��������/���
x-morph=”OSHM:HRd/Ncfsa” x-
cantillationLevel=”1” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-
cantillationLevel=”0.1.1” ”strong=”i/3808|����/��
x-morph=”OSHM:HTi/Tn”������|strong=”2063”
x-morph=”OSHM:HPdxfs” x-
cantillationLevel=”0.1.0” ”+strong=”1339|����
x-morph=”OSHM:HNp”��������|strong=”1339”
x-morph=”OSHM:HAcfsa” ”strong=”1323|����

x-morph=”OSHM:HNcfsc”����������|strong=”463”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”802|������� x-morph=”OSHM:HNcfsc”
x-cantillationLevel=”0.0” strong=”223|����������
a” x-morph=”OSHM:HNp” ”strong=”d/2850|�������/��
x-morph=”OSHM:HTd/Ngmsa”
x-cantillationLevel=”0”� 4
”strong=”c/7971|����������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”1732|������� x-
morph=”OSHM:HNp” ”strong=”4397|�����������
x-morph=”OSHM:HNcmpa” x-
cantillationLevel=”1.1.1.0” ”strong=”c/3947|��/���������/��
x-morph=”OSHM:HC/Vqw3ms/Sp3fs”
x-cantillationLevel=”1.1.1” ”strong=”c/935|��������/��
x-morph=”OSHM:HC/Vqw3fs”
”strong=”413|��/����� x-
morph=”OSHM:HR/Sp3ms” x-
cantillationLevel=”1.1.0” ”strong=”c/7901|�����������/��
x-morph=”OSHM:HC/Vqw3ms”
strong=”5973|��/������ a”
x-morph=”OSHM:HR/Sp3fs” x-
cantillationLevel=”1.1” 25 We read
one or more accents in L differently
than BHS. Often this notation indi-
cates a typographical error in BHS.
”strong=”c/1931|�����/�� x-
morph=”OSHM:HC/Pp3fs” ”strong=”6942|��������������
x-morph=”OSHM:HVtrfsa” x-
cantillationLevel=”1.0” ”strong=”m/2932|��/����������/��
x-morph=”OSHM:HR/Ncfsc/Sp3fs”
x-cantillationLevel=”1” ”strong=”c/7725|��������/��
x-morph=”OSHM:HC/Vqw3fs” x-
cantillationLevel=”0.0” ”strong=”413|���
x-morph=”OSHM:HR”��/��������|strong=”1004
b” x-morph=”OSHM:HNcmsc/Sp3fs”
x-cantillationLevel=”0”� 5
”strong=”c/2029|�������/��
x-morph=”OSHM:HC/Vqw3fs” x-
cantillationLevel=”1.0” ”strong=”d/802|��������/���
x-morph=”OSHM:HTd/Ncfsa” x-
cantillationLevel=”1” ”strong=”c/7971|����������/��
x-morph=”OSHM:HC/Vqw3fs” x-
cantillationLevel=”0.1.0” ”strong=”c/5046|��������/��

25c
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x-morph=”OSHM:HC/Vhw3fs”
”strong=”l/1732|������/��
x-morph=”OSHM:HR/Np” x-
cantillationLevel=”0.1” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3fs” x-
cantillationLevel=”0.0” strong=”2030|������
a” x-morph=”OSHM:HAafsa”
”strong=”595|�������� x-
morph=”OSHM:HPp1cs” x-cantillationLevel=”0”�
6 ”strong=”c/7971|����������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”1732|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.2.0”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”3097”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2”
”strong=”7971|������� x-
morph=”OSHM:HVqv2ms” ”strong=”413|�/�����
x-morph=”OSHM:HR/Sp1cs” x-
cantillationLevel=”1.1” ”strong=”853|���
x-morph=”OSHM:HTo”������������|strong=”223
a” x-morph=”OSHM:HNp” x-
cantillationLevel=”1.0” ”strong=”d/2850|�������/��
x-morph=”OSHM:HTd/Ngmsa” x-
cantillationLevel=”1” ”strong=”c/7971|����������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”3097|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0.0.0”
”strong=”853|��� x-morph=”OSHM:HTo”������������|strong=”223
a” x-morph=”OSHM:HNp” x-
cantillationLevel=”0.0” ”strong=”413|���
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x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.1”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”��������|strong=”1121
a” x-morph=”OSHM:HNcmpc” ”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0”
”strong=”4191|������ x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”1” strong=”3588|�����
b” x-morph=”OSHM:HC”����|strong=”518
b” x-morph=”OSHM:HC”����������|strong=”550”
x-morph=”OSHM:HNp” ”strong=”l/905|��/�����/��
x-morph=”OSHM:HR/Ncmsc/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”4191|����
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0”�
� 34 ”strong=”c/1272|���������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.0”
”strong=”53|������������ x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”c/5375|���������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”0.1.0.0”
”strong=”d/5288|�������/�� x-morph=”OSHM:HTd/Ncmsa”
”strong=”d/6822|�������/�� x-morph=”OSHM:HTd/Vqrmsa”
x-cantillationLevel=”0.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”�/����|strong=”5869
a” x-morph=”OSHM:HNcbdc/Sp3ms”
x-wType=”x-ketiv” 35 ”strong=”c/7200|�������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”0.0.1”
”strong=”c/2009|�������/�� x-morph=”OSHM:HC/Tm”
strong=”5971|��� a” x-morph=”OSHM:HNcmsa”�����|strong=”7227
a” x-morph=”OSHM:HAamsa” x-cantillationLevel=”0.0.0.0”
”strong=”1980|��������� x-morph=”OSHM:HVqrmpa”
”strong=”m/1870|��������/�� x-
morph=”OSHM:HR/Ncbsa” x-cantillationLevel=”0.0.0”
strong=”310|�/�������� a” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”m/6654|�����/��
x-morph=”OSHM:HR/Ncmsc” ”strong=”d/2022|����/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”�

35+ strong=”5869|�/��������/��� a” x-morph=”OSHM:HNcbdc/Sp3ms” x-
cantillationLevel=”0.1”
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35 ”strong=”c/559|��������/�� x-
morph=”OSHM:HC/Vqw3ms” ”strong=”3122|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”413|��� x-morph=”OSHM:HR”��������/���|strong=”d/4428”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1”
”strong=”2009|������� x-morph=”OSHM:HTm”
strong=”1121|������ a” x-morph=”OSHM:HNcmpc”��������/���|strong=”d/4428”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0”
”strong=”935|������� x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”1” ”strong=”k/1697|������/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”5650|���/�������
x-morph=”OSHM:HNcmsc/Sp2ms” x-
cantillationLevel=”0.0” strong=”3651|�����
c” x-morph=”OSHM:HTm” ”strong=”1961|������
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0”�
36 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.1.1.0” � ”strong=”k/3615|��/�������/���
x-morph=”OSHM:HR/Vpc/Sp3ms” ”strong=”l/1696|�������/��
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x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.0”
”strong=”935|������� x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”1.1” ”strong=”c/5375|����������/��
x-morph=”OSHM:HC/Vqw3mp” strong=”6963|�/������
a” x-morph=”OSHM:HNcmsc/Sp3mp”
x-cantillationLevel=”1.0” ”strong=”c/1058|����������/��
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”1”
”strong=”c/1571|���/�� x-morph=”OSHM:HC/Ta”���������/���|strong=”d/4428”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.2.0”
”strong=”c/3605|���/�� x-morph=”OSHM:HC/Ncmsc”�/���������|strong=”5650”
x-morph=”OSHM:HNcmpc/Sp3ms” x-
cantillationLevel=”0.2” ”strong=”1058|�������
x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”0.1”
”strong=”1065|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” strong=”1419|��������
a” x-morph=”OSHM:HAamsa” ”strong=”3966|������
x-morph=”OSHM:HD” x-cantillationLevel=”0”�
37 ”strong=”c/53|������������/��
x-morph=”OSHM:HC/Np” ”strong=”1272|�������
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.1”
”strong=”c/3212|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.0.0” ”strong=”413|���

x-morph=”OSHM:HR”����������|strong=”8526”
x-morph=”OSHM:HNp” strong=”1121|����
a” x-morph=”OSHM:HNcmsc”�������|strong=”5991”
x-morph=”OSHM:HNp” x-wType=”x-
ketiv” 36 ”strong=”4428|������� x-
morph=”OSHM:HNcmsc” ”strong=”1650|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/56|������������/��
x-morph=”OSHM:HC/Vtw3ms” strong=”5921|���
a” x-morph=”OSHM:HR”��/������|strong=”1121
a” x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”��������/���|strong=”d/3117”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0”�
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x-morph=”OSHM:HC/Np” ”strong=”1272|�������
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.0”
”strong=”c/3212|��������/�� x-morph=”OSHM:HC/Vqw3ms”
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x-morph=”OSHM:HD” x-cantillationLevel=”0.0”
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”strong=”8141|�������� x-morph=”OSHM:HNcfpa”
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x-morph=”OSHM:HVNp3ms” strong=”5921|���
a” x-morph=”OSHM:HR”����������|strong=”550”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
strong=”3588|����� a” x-morph=”OSHM:HC”�����|strong=”4191”
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0”�
�

14 ”strong=”c/3045|�������/��
x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.0”

”strong=”3097|������� x-
36+ ”strong=”5989|����������������� x-morph=”OSHM:HNp” x-
cantillationLevel=”1.0”
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morph=”OSHM:HNp” strong=”1121|����
a” x-morph=”OSHM:HNcmsc”���������|strong=”6870”
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
strong=”3588|����� a” x-
morph=”OSHM:HC”�����|strong=”3820
a” x-morph=”OSHM:HNcmsc”
”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”0.0” strong=”5921|���
a” x-morph=”OSHM:HR”�������������|strong=”53”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
2 ”strong=”c/7971|����������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”3097|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”8620|�/���������
x-morph=”OSHM:HNp/Sd” x-
cantillationLevel=”1.1” ”strong=”c/3947|��������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”m/8033|������/�� x-
morph=”OSHM:HR/D” x-cantillationLevel=”1.0”
”strong=”802|�������� x-
morph=”OSHM:HNcfsa” ”strong=”2450|��������
x-morph=”OSHM:HAafsa” x-
cantillationLevel=”1” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”413|��/������ x-
morph=”OSHM:HR/Sp3fs” x-
cantillationLevel=”0.3.1.1” ”strong=”56|�������������
x-morph=”OSHM:HVtv2fs”�����|strong=”4994”
x-morph=”OSHM:HTe” x-cantillationLevel=”0.3.1.0”
”strong=”c/3847|��������/�� x-
morph=”OSHM:HC/Vqv2fs”�����|strong=”4994”
x-morph=”OSHM:HTe” strong=”899|�������
b” x-morph=”OSHM:HNcmpc”�������|strong=”60”
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”0.3.1” ”strong=”c/408|���/��
x-morph=”OSHM:HC/Tn”������������|strong=”5480”
x-morph=”OSHM:HVqj2fs” x-
cantillationLevel=”0.3.0” ”strong=”8081|�������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”0.3” ”strong=”c/1961|�������/��
x-morph=”OSHM:HC/Vqq2fs” x-
cantillationLevel=”0.2” ”strong=”k/802|��������/���
x-morph=”OSHM:HR/Ncfsa” x-
cantillationLevel=”0.1.1” ”strong=”2088|����

x-morph=”OSHM:HPdxms” x-
cantillationLevel=”0.1.0” ”strong=”3117|�������
x-morph=”OSHM:HNcmpa” strong=”7227|��������
a” x-morph=”OSHM:HAampa” x-
cantillationLevel=”0.1” ”strong=”56|�������������
x-morph=”OSHM:HVtrfsa” x-
cantillationLevel=”0.0” strong=”5921|���
a” x-morph=”OSHM:HR”�����|strong=”4191”
x-morph=”OSHM:HVqrmsa” x-
cantillationLevel=”0”� 3 ”strong=”c/935|�����/��
x-morph=”OSHM:HC/Vqq2fs” x-
cantillationLevel=”1.1.0” ”strong=”413|���
x-morph=”OSHM:HR”��������/���|strong=”d/4428”
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.1” ”strong=”c/1696|�����������/��
x-morph=”OSHM:HC/Vpq2fs”
”strong=”413|�/������ x-
morph=”OSHM:HR/Sp3ms” x-
cantillationLevel=”1.0” ”strong=”k/1697|�������/���
x-morph=”OSHM:HRd/Ncmsa”
”strong=”d/2088|�����/�� x-
morph=”OSHM:HTd/Pdxms” x-
cantillationLevel=”1” strong=”c/7760|��������/��
a” x-morph=”OSHM:HC/Vqw3ms”
”strong=”3097|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0.0.0”
”strong=”853|��� x-morph=”OSHM:HTo”����������/���|strong=”d/1697”
x-morph=”OSHM:HTd/Ncmpa” x-
cantillationLevel=”0.0” ”strong=”b/6310|��/����/���
x-morph=”OSHM:HR/Ncmsc/Sp3fs”
x-cantillationLevel=”0”� 4
”strong=”c/559|�������/���
x-morph=”OSHM:HC/Vqw3fs” x-
cantillationLevel=”1.1.0.0” ”strong=”d/802|��������/��
x-morph=”OSHM:HTd/Ncfsa”
”strong=”d/8621|����������/��
x-morph=”OSHM:HTd/Ngfsa” x-
cantillationLevel=”1.1.0” ”strong=”413|���
x-morph=”OSHM:HR”��������/���|strong=”d/4428”
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.1” ”strong=”c/5307|��������/��
x-morph=”OSHM:HC/Vqw3fs”
strong=”5921|��� a” x-morph=”OSHM:HR”��/��������|strong=”639”
x-morph=”OSHM:HNcmdc/Sp3fs” x-
cantillationLevel=”1.0.0” ”strong=”776|�/�������
x-morph=”OSHM:HNcbsa/Sd” x-
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cantillationLevel=”1.0” ”strong=”c/7812|�������������/��
x-morph=”OSHM:HC/Vvw3fs” x-
cantillationLevel=”1” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3fs” x-
cantillationLevel=”0.0” ”strong=”3467|�/���������
x-morph=”OSHM:HVhv2ms/Sh”
”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”0”� � 5
”strong=”c/559|��������/�� x-
morph=”OSHM:HC/Vqw3ms”��/����|strong=”l”
x-morph=”OSHM:HR/Sp3fs” ”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.0” ”strong=”4100|���
x-morph=”OSHM:HTi”��/�����|strong=”l”
x-morph=”OSHM:HR/Sp2fs” x-
cantillationLevel=”1” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3fs” x-
cantillationLevel=”0.0.1” ”strong=”61|������
x-morph=”OSHM:HD” x-cantillationLevel=”0.0.0”
”strong=”802|�������� x-
morph=”OSHM:HNcfsa”�����������|strong=”490”
x-morph=”OSHM:HNcfsa” ”strong=”589|������
x-morph=”OSHM:HPp1cs” x-
cantillationLevel=”0.0” ”strong=”c/4191|�������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”376|�/������� x-
morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”0”� 6
”strong=”c/l/8198|���/����������/��/��
x-morph=”OSHM:HC/R/Ncfsc/Sp2ms”
x-cantillationLevel=”1.2.0” ”strong=”8147|�������
x-morph=”OSHM:HAcmdc” strong=”1121|�������
a” x-morph=”OSHM:HNcmpa” x-
cantillationLevel=”1.2” strong=”c/5327|����������/��
a” x-morph=”OSHM:HC/VNw3mp”
”strong=”8147|����/������ x-
morph=”OSHM:HAcmdc/Sp3mp” x-
cantillationLevel=”1.1.0” strong=”b/7704|��������/���
b” x-morph=”OSHM:HRd/Ncmsa” x-
cantillationLevel=”1.1” ”strong=”c/369|�����/��
x-morph=”OSHM:HC/Tn” ”strong=”5337|��������
x-morph=”OSHM:HVhrmsa” x-
cantillationLevel=”1.0” ”strong=”996|����/��������
x-morph=”OSHM:HR/Sp3mp” x-
cantillationLevel=”1” ”strong=”c/5221|��/������/��

x-morph=”OSHM:HC/Vhw3ms/Sp3ms”
”strong=”d/259|������/�� x-
morph=”OSHM:HTd/Acmsa” x-
cantillationLevel=”0.0.0” ”strong=”853|���
x-morph=”OSHM:HTo”������/���|strong=”d/259”
x-morph=”OSHM:HTd/Acmsa” x-
cantillationLevel=”0.0” ”strong=”c/4191|�������/��
x-morph=”OSHM:HC/Vhw3ms”
”strong=”853|��/���� x-morph=”OSHM:HTo/Sp3ms”
x-cantillationLevel=”0”� 7
”strong=”c/2009|�������/�� x-
morph=”OSHM:HC/Tm” strong=”6965|������
b” x-morph=”OSHM:HVqp3fs”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”�������������/���|strong=”d/4940”
x-morph=”OSHM:HTd/Ncfsa” x-
cantillationLevel=”1.1.4.0” strong=”5921|���
a” x-morph=”OSHM:HR”��/�����������|strong=”8198”
x-morph=”OSHM:HNcfsc/Sp2ms” x-
cantillationLevel=”1.1.4” ”strong=”c/559|�����������/��
x-morph=”OSHM:HC/Vqw3mp” x-
cantillationLevel=”1.1.3” ”strong=”5414|�������
x-morph=”OSHM:HVqv2fs” x-
cantillationLevel=”1.1.2.0” �
”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”5221”
x-morph=”OSHM:HVhrmsc” ”strong=”251|�/������
x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”1.1.2” ”strong=”c/4191|����/�������/��
x-morph=”OSHM:HC/Vhi1cp/Sp3ms”
x-cantillationLevel=”1.1.1” ”strong=”b/5315|�������/���
x-morph=”OSHM:HR/Ncbsc”
”strong=”251|��/����� x-
morph=”OSHM:HNcmsc/Sp3ms” x-
cantillationLevel=”1.1.0” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”2026|������
x-morph=”OSHM:HVqp3ms” x-
cantillationLevel=”1.1” ”strong=”c/8045|������������/��
x-morph=”OSHM:HC/Vhh1cp” x-
cantillationLevel=”1.0” ”strong=”1571|�����
x-morph=”OSHM:HTa” ”strong=”853|���
x-morph=”OSHM:HTo”���������/���|strong=”d/3423”
x-morph=”OSHM:HTd/Vqrmsa” x-
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x-morph=”OSHM:HC/Vpq3cp” x-
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x-morph=”OSHM:HTo”��/������������|strong=”1513”
x-morph=”OSHM:HNcbsc/Sp1cs” x-



CONTENTS 93

cantillationLevel=”0.1.0” strong=”834|�������
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x-morph=”OSHM:HVNp3fs” x-
cantillationLevel=”0.1” ”strong=”l/1115|���������/��
x-morph=”OSHM:HR/C” strong=”7760|���
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x-morph=”OSHM:HR/Ncmsc/Sp1cs”
x-cantillationLevel=”0.0.0” ”strong=”8034|�����
x-morph=”OSHM:HNcmsa” ”strong=”c/7611|����������/��
x-morph=”OSHM:HC/Ncfsa” x-
cantillationLevel=”0.0” strong=”5921|���
a” x-morph=”OSHM:HR”��������|strong=”6440”
x-morph=”OSHM:HNcbpc” ”strong=”d/127|��������/��
x-morph=”OSHM:HTd/Ncfsa” x-
cantillationLevel=”0”� � 8
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x-morph=”OSHM:HC/Vqw3ms”
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cantillationLevel=”1.0.0” ”strong=”413|���
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x-cantillationLevel=”0”� 9
”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3fs” x-
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x-morph=”OSHM:HNcbsa/Sd” x-cantillationLevel=”1.0.0”
”strong=”c/7812|�������������/��
x-morph=”OSHM:HC/Vtw3ms” x-cantillationLevel=”1.0”
”strong=”c/1288|���������/�� x-
morph=”OSHM:HC/Vpw3ms” ”strong=”853|���
x-morph=”OSHM:HTo”��������/���|strong=”d/4428”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1”
”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”3097|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1.0.1” ”strong=”d/3117|������/��
x-morph=”OSHM:HTd/Ncmsa” ”strong=”3045|������
x-morph=”OSHM:HVqp3ms” ”strong=”5650|���/�������
x-morph=”OSHM:HNcmsc/Sp2ms” x-
cantillationLevel=”0.1.0.0” strong=”3588|����
a” x-morph=”OSHM:HC”����������|strong=”4672”
x-morph=”OSHM:HVqp1cs” ”strong=”2580|����
x-morph=”OSHM:HNcmsa” strong=”b/5869|���/�������/���
a” x-morph=”OSHM:HR/Ncbdc/Sp2ms”
x-cantillationLevel=”0.1.0” ”strong=”113|�/�������
x-morph=”OSHM:HNcmsc/Sp1cs” ”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1”

strong=”834|������ a” x-morph=”OSHM:HTr”��������|strong=”6213
a” x-morph=”OSHM:HVqp3ms” ”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0”
”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”1697”
x-morph=”OSHM:HNcmsc” ”strong=”5650|�/���
x-morph=”OSHM:HNcmsc/Sp3ms” x-
wType=”x-ketiv” 39 � 23 strong=”c/6965|�������/��
b” x-morph=”OSHM:HC/Vqw3ms” ”strong=”3097|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”c/3212|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”1650|�/���������� x-morph=”OSHM:HNp/Sd”
x-cantillationLevel=”1” ”strong=”c/935|�������/��
x-morph=”OSHM:HC/Vhw3ms” ”strong=”853|���
x-morph=”OSHM:HTo”�������������|strong=”53”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”3389|������������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0”�
� 24 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”d/4428|���������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.0”
”strong=”5437|������� x-morph=”OSHM:HVqi3ms”
”strong=”413|��� x-morph=”OSHM:HR”��/�������|strong=”1004
b” x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”1.1” ”strong=”c/6440|�/�����/��
x-morph=”OSHM:HC/Ncbpc/Sp1cs”
x-cantillationLevel=”1.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”7200|��������
x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”1”
”strong=”c/5437|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”53|������������ x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1.0” ”strong=”413|���
x-morph=”OSHM:HR”��/�������|strong=”1004
b” x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0.1” ”strong=”c/6440|������/��
x-morph=”OSHM:HC/Ncbpc” ”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0”
”strong=”3808|���� x-morph=”OSHM:HTn”
”strong=”7200|������ x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”0”� � 25 ”strong=”c/k/53|������������/��/��
x-morph=”OSHM:HC/R/Np” x-cantillationLevel=”1.0.1”
”strong=”3808|��� x-morph=”OSHM:HTn”�������|strong=”1961”
x-morph=”OSHM:HVqp3ms” ”strong=”376|�����
x-morph=”OSHM:HNcmsa”�������|strong=”3303”

39+ ”strong=”5650|��/���������/��� x-morph=”OSHM:HNcmsc/Sp2ms” x-
cantillationLevel=”0”
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x-morph=”OSHM:HAamsa” x-cantillationLevel=”1.0.0”
”strong=”b/3605|���/��� x-morph=”OSHM:HR/Ncmsc”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
strong=”l/1984|�������/�� b” x-morph=”OSHM:HR/Vpc”
”strong=”3966|������ x-morph=”OSHM:HD”
x-cantillationLevel=”1” ”strong=”m/3709|�����/��
x-morph=”OSHM:HR/Ncfsc” ”strong=”7272|���/�����
x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”0.1.0”
”strong=”c/5704|����/�� x-morph=”OSHM:HC/R”
”strong=”6936|��/�������� x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0.1” ”strong=”3808|���
x-morph=”OSHM:HTn”�������|strong=”1961”
x-morph=”OSHM:HVqp3ms” ”strong=”b|��/��
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.0”
strong=”3971|����� b” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 26 ”strong=”c/b/1548|���/������/��/���
x-morph=”OSHM:HC/R/Vpc/Sp3ms”
x-cantillationLevel=”1.2.0” ”strong=”853|���
x-morph=”OSHM:HTo”���/������|strong=”7218
a” x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”1.2” ”strong=”c/1961|�����/����
x-morph=”OSHM:HC/Vqq3ms” x-cantillationLevel=”1.1.0.0”
”strong=”m/7093|�����/�� x-morph=”OSHM:HR/Ncmsc”
40 We read one or more accents in L
differently than BHS. Often this notation
indicates a typographical error in BHS.
”strong=”3117|������� x-morph=”OSHM:HNcmpa”
� ”strong=”l/3117|��������/��
x-morph=”OSHM:HRd/Ncmpa” x-cantillationLevel=”1.1.0”
strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”1548|���������� x-morph=”OSHM:HVpi3ms”
x-cantillationLevel=”1.1” strong=”3588|�����
a” x-morph=”OSHM:HC”�������|strong=”3513”
x-morph=”OSHM:HAamsa” strong=”5921|�/������
a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.0”
”strong=”c/1548|��/�������/��
x-morph=”OSHM:HC/Vpq3ms/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/8254|�������/��
x-morph=”OSHM:HC/Vqq3ms” x-cantillationLevel=”0.1.0”
”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”8181”
x-morph=”OSHM:HNcmsc” strong=”7218|��/������
a” x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0.1” ”strong=”3967|���������
x-morph=”OSHM:HAcbda” ”strong=”8255|����������

x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.0”
”strong=”b/68|������/��� x-morph=”OSHM:HR/Ncfsc”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0”� 27 ”strong=”c/3205|�������������/��
x-morph=”OSHM:HC/VNw3mp” ”strong=”l/53|������������/��
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.1.0”
”strong=”7969|����������� x-morph=”OSHM:HAcmsa”
strong=”1121|������� a” x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1.1” ”strong=”c/1323|����/��
x-morph=”OSHM:HC/Ncfsa” ”strong=”259|������
x-morph=”OSHM:HAcfsa” x-cantillationLevel=”1.0”
”strong=”c/8034|��/������/�� x-
morph=”OSHM:HC/Ncmsc/Sp3fs” ”strong=”8559|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”1931|����� x-morph=”OSHM:HPp3fs”
”strong=”1961|�������� x-morph=”OSHM:HVqp3fs”
x-cantillationLevel=”0.1” ”strong=”802|��������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0”
”strong=”3303|������ x-morph=”OSHM:HAafsc”
”strong=”4758|�������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� � 28 ”strong=”c/3427|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”53|������������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.0”
”strong=”b/3389|������������/���
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.0”
”strong=”8141|����������� x-morph=”OSHM:HNcfda”
”strong=”3117|������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1” ”strong=”c/6440|������/��
x-morph=”OSHM:HC/Ncbpc” ”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0”
”strong=”3808|���� x-morph=”OSHM:HTn”
”strong=”7200|������ x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”0”� 29 ”strong=”c/7971|����������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”53|������������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1.0”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”3097”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1”
”strong=”l/7971|��������/�� x-morph=”OSHM:HR/Vqc”
”strong=”853|���/��� x-morph=”OSHM:HTo/Sp3ms”
x-cantillationLevel=”1.1.0” ”strong=”413|���
x-morph=”OSHM:HR”��������/���|strong=”d/4428”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1”
”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
”strong=”14|������ x-morph=”OSHM:HVqp3ms”

40c
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x-cantillationLevel=”1.0” ”strong=”l/935|�����/��
x-morph=”OSHM:HR/Vqc” ”strong=”413|�/������
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1”
”strong=”c/7971|����������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”5750|�����
x-morph=”OSHM:HD” x-cantillationLevel=”0.1.0”
”strong=”8145|�������� x-morph=”OSHM:HAofsa”
x-cantillationLevel=”0.1” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” ”strong=”14|������
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.0”
”strong=”l/935|�����/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”0”� 30 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”413|���
x-morph=”OSHM:HR”�/���������|strong=”5650”
x-morph=”OSHM:HNcmpc/Sp3ms” x-
cantillationLevel=”1.1.0.0” ”strong=”7200|������
x-morph=”OSHM:HVqv2mp” strong=”2513|��������
a” x-morph=”OSHM:HNcfsc” ”strong=”3097|�������
x-morph=”OSHM:HNp” ”strong=”413|���
x-morph=”OSHM:HR”��/�����|strong=”3027”
x-morph=”OSHM:HNcbsc/Sp1cs” x-cantillationLevel=”1.1.0”
”strong=”c/l|��/�/�� x-morph=”OSHM:HC/R/Sp3ms”������|strong=”8033”
x-morph=”OSHM:HD” ”strong=”8184|����������
x-morph=”OSHM:HNcfpa” x-cantillationLevel=”1.1”
”strong=”3212|������ x-morph=”OSHM:HVqv2mp”
x-cantillationLevel=”1.0” ”strong=”c/3341|�/�����/�
x-morph=”OSHM:HC/Vhq1cs/Sp3fs”
x-wType=”x-ketiv” 41 ”strong=”b/784|�����/��
x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”1”
”strong=”c/3341|����������/��
x-morph=”OSHM:HC/Vhw3mp” x-cantillationLevel=”0.0.0.0”
”strong=”5650|�������� x-morph=”OSHM:HNcmpc”
”strong=”53|������������ x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0.0” ”strong=”853|���
x-morph=”OSHM:HTo”��������/���|strong=”d/2513
a” x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.0”
”strong=”b/784|�����/��� x-morph=”OSHM:HRd/Ncbsa”
x-cantillationLevel=”0”� � 31 strong=”c/6965|�������/��
b” x-morph=”OSHM:HC/Vqw3ms” ”strong=”3097|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”c/935|�������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”413|��� x-morph=”OSHM:HR”�������������|strong=”53”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”

strong=”d/1004|�/��������/��
b” x-morph=”OSHM:HTd/Ncmsa/Sd”
x-cantillationLevel=”1” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”413|�/������
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.1”
”strong=”l/4100|����/��� x-morph=”OSHM:HR/Ti”
”strong=”3341|���������� x-morph=”OSHM:HVhp3cp”
”strong=”5650|��/������� x-morph=”OSHM:HNcmpc/Sp2ms”
x-cantillationLevel=”0.0.0” ”strong=”853|���
x-morph=”OSHM:HTo”��������/���|strong=”d/2513
a” x-morph=”OSHM:HTd/Ncfsa” strong=”834|������
a” x-morph=”OSHM:HTr”�/����|strong=”l”
x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0.0”
”strong=”b/784|�����/��� x-morph=”OSHM:HRd/Ncbsa”
x-cantillationLevel=”0”� 32 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”53|������������
x-morph=”OSHM:HNp” ”strong=”413|���
x-morph=”OSHM:HR”��������|strong=”3097”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1.4”
”strong=”2009|������� x-morph=”OSHM:HTm”
”strong=”7971|������������ x-morph=”OSHM:HVqp1cs”
”strong=”413|��/������ x-morph=”OSHM:HR/Sp2ms”
x-cantillationLevel=”1.1.1.3” � ”strong=”l/559|�����/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.1.1.2”
”strong=”935|����� x-morph=”OSHM:HVqv2ms”
”strong=”2008|������� x-morph=”OSHM:HD”
x-cantillationLevel=”1.1.1.1” ”strong=”c/7971|�����������/��
x-morph=”OSHM:HC/Vqh1cs” ”strong=”853|���/����
x-morph=”OSHM:HTo/Sp2ms” 42We
read one ormore accents in L differently
than BHS. Often this notation indicates
a typographical error in BHS. ”strong=”413|���
x-morph=”OSHM:HR”��������/���|strong=”d/4428”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.1.0”
”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”1.1.1” ”strong=”l/4100|����/���
x-morph=”OSHM:HR/Ti” ”strong=”935|���������
x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”1.1.0”
”strong=”m/1650|���������/��
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.1”
strong=”2896|����� a” x-morph=”OSHM:HAamsa”
”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1.0” ”strong=”5750|����

41+”strong=”c/3341|��/����������/���/�����/� x-morph=”OSHM:HC/Vhv2mp/Sp3fs”
42c



100 CONTENTS

x-morph=”OSHM:HD” ”strong=”589|�����
x-morph=”OSHM:HPp1cs”������|strong=”8033”
x-morph=”OSHM:HD” x-cantillationLevel=”1”
”strong=”c/6258|�������/�� x-morph=”OSHM:HC/D”
x-cantillationLevel=”0.1.1” ”strong=”7200|��������
x-morph=”OSHM:HVqh1cs” x-cantillationLevel=”0.1.0”
”strong=”6440|������� x-morph=”OSHM:HNcbpc”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1” strong=”c/518|���/��
a” x-morph=”OSHM:HC/C”�����|strong=”3426”
x-morph=”OSHM:HTm”�/�����|strong=”b”
x-morph=”OSHM:HR/Sp1cs” ”strong=”5771|������
x-morph=”OSHM:HNcbsa” x-cantillationLevel=”0.0”
”strong=”c/4191|���/�������/��
x-morph=”OSHM:HC/Vhq3ms/Sp1cs”
x-cantillationLevel=”0”� 33 ”strong=”c/935|�������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”3097|�������
x-morph=”OSHM:HNp” ”strong=”413|���
x-morph=”OSHM:HR”��������/���|strong=”d/4428”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.2.0”
”strong=”c/5046|�������/�� x-morph=”OSHM:HC/Vhw3ms”���/��|strong=”l”
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.2”
”strong=”c/7121|���������/�� x-
morph=”OSHM:HC/Vqw3ms” ”strong=”413|���
x-morph=”OSHM:HR”�������������|strong=”53”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”c/935|�������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”413|��� x-morph=”OSHM:HR”��������/���|strong=”d/4428”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1”
”strong=”c/7812|�������������/��
x-morph=”OSHM:HC/Vtw3ms” ”strong=”l|��/��
x-morph=”OSHM:HR/Sp3ms” strong=”5921|���
a” x-morph=”OSHM:HR”�/��������|strong=”639”
x-morph=”OSHM:HNcmdc/Sp3ms” x-
cantillationLevel=”1.0.0” ”strong=”776|�/�������
x-morph=”OSHM:HNcbsa/Sd” x-cantillationLevel=”1.0”
”strong=”l/6440|������/�� x-morph=”OSHM:HR/Ncbpc”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1” strong=”c/5401|���������/��
a” x-morph=”OSHM:HC/Vqw3ms” ”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0”
”strong=”l/53|������������/��
x-morph=”OSHM:HR/Np” x-cantillationLevel=”0”�
�15 ”strong=”c/1961|������/���

x-morph=”OSHM:HC/Vqw3ms”

x-cantillationLevel=”1.2.0”
strong=”m/310|��������/�� a”
x-morph=”OSHM:HR/R” strong=”3651|����
c” x-morph=”OSHM:HD” x-
cantillationLevel=”1.2” strong=”c/6213|��������/��
a” x-morph=”OSHM:HC/Vqw3ms”
”strong=”l|���/� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1.1.0” ”strong=”53|������������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”4818|�����������
x-morph=”OSHM:HNcfsa” x-
cantillationLevel=”1.0” strong=”c/5483|�������/��
b” x-morph=”OSHM:HC/Ncmpa” x-
cantillationLevel=”1” ”strong=”c/2572|�����������/��
x-morph=”OSHM:HC/Acbpa”
”strong=”376|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” ”strong=”7323|�������
x-morph=”OSHM:HVqrmpa” ”strong=”l/6440|�/������/��
x-morph=”OSHM:HR/Ncbpc/Sp3ms”
x-cantillationLevel=”0”� 2
”strong=”c/7925|�����������/��
x-morph=”OSHM:HC/Vhq3ms” x-
cantillationLevel=”1.2.0” ”strong=”53|������������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2”
”strong=”c/5975|������/�� x-
morph=”OSHM:HC/Vqq3ms” x-
cantillationLevel=”1.1” strong=”5921|���
a” x-morph=”OSHM:HR”�����|strong=”3027”
x-morph=”OSHM:HNcbsc” x-
cantillationLevel=”1.0” ”strong=”1870|��������
x-morph=”OSHM:HNcbsc” ”strong=”d/8179|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1” ”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqw3ms” x-
cantillationLevel=”0.2.3.1” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”������/���|strong=”d/376”
x-morph=”OSHM:HTd/Ncmsa”
strong=”834|������� a” x-
morph=”OSHM:HTr”��������|strong=”1961”
x-morph=”OSHM:HVqi3ms”��/���|strong=”l”
x-morph=”OSHM:HR/Sp3ms”������|strong=”7379”
x-morph=”OSHM:HNcbsa” ”strong=”l/935|�����/��
x-morph=”OSHM:HR/Vqc” ”strong=”413|���
x-morph=”OSHM:HR”��������/���|strong=”d/4428”
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”0.2.3.0” ”strong=”l/4941|�����������/��
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”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”1732|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” ”strong=”5528|������
x-morph=”OSHM:HVpv2ms”�����|strong=”4994”
x-morph=”OSHM:HTe” x-cantillationLevel=”0.0.0”
”strong=”853|��� x-morph=”OSHM:HTo”�������|strong=”6098”
x-morph=”OSHM:HNcfsc” ”strong=”302|�����������

x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 32 ”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”1732|������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”935|����� x-morph=”OSHM:HVqrmsa”
”strong=”5704|��� x-morph=”OSHM:HR”������/���|strong=”d/7218
a” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1”
strong=”834|������� a” x-morph=”OSHM:HTr”���������������|strong=”7812”
x-morph=”OSHM:HVvi3ms” ”strong=”8033|�����
x-morph=”OSHM:HD” x-cantillationLevel=”1.0”
”strong=”l/430|��������/�� x-morph=”OSHM:HR/Ncmpa”
x-cantillationLevel=”1” ”strong=”c/2009|�������/��
x-morph=”OSHM:HC/Tm” ”strong=”l/7125|���/������/��
x-morph=”OSHM:HR/Vqc/Sp3ms” x-
cantillationLevel=”0.2.0” ”strong=”2365|��������
x-morph=”OSHM:HNp” ”strong=”d/757|���������/��
x-morph=”OSHM:HTd/Ngmsa” x-cantillationLevel=”0.2”
”strong=”7167|��������� x-morph=”OSHM:HVqsmsa”
x-cantillationLevel=”0.1.0” ”strong=”3801|��/�����������
x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”0.1”
”strong=”c/127|��������/�� x-morph=”OSHM:HC/Ncfsa”
x-cantillationLevel=”0.0” strong=”5921|���
a” x-morph=”OSHM:HR”��/�������|strong=”7218
a” x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0”� 33 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”l|��/��
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.0”
”strong=”1732|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” strong=”518|����
a” x-morph=”OSHM:HC” x-cantillationLevel=”0.1.0”
strong=”5674|���������� a” x-morph=”OSHM:HVqp2ms”
”strong=”854|�/������ x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”0.1” ”strong=”c/1961|�������/��
x-morph=”OSHM:HC/Vqp2ms” strong=”5921|�/�����
a” x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0.0”
strong=”l/4853|��������/�� a” x-
morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0”�
34 strong=”c/518|���/�� a” x-morph=”OSHM:HC/C”�����/���|strong=”d/5892
b” x-morph=”OSHM:HTd/Ncfsa” ”strong=”7725|���������
x-morph=”OSHM:HVqi2ms” x-cantillationLevel=”1.2.2”
”strong=”c/559|����������/��
x-morph=”OSHM:HC/Vqp2ms” ”strong=”l/53|������������/��
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.2.1”
”strong=”5650|���/������� x-morph=”OSHM:HNcmsc/Sp2ms”
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46 We read one or more accents in L
differently than BHS. Often this notation
indicates a typographical error in BHS.
”strong=”589|������ x-morph=”OSHM:HPp1cs”
”strong=”d/4428|���������/�� x-
morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.2.0”
”strong=”1961|��������� x-morph=”OSHM:HVqi1cs”
x-cantillationLevel=”1.2” ”strong=”5650|������
x-morph=”OSHM:HNcmsc” ”strong=”1|��/������
x-morph=”OSHM:HNcmsc/Sp2ms” ”strong=”c/589|������/���
x-morph=”OSHM:HC/Pp1cs” x-cantillationLevel=”1.1.0”
strong=”m/227|����/�� b” x-morph=”OSHM:HR/D”
x-cantillationLevel=”1.1” ”strong=”c/6258|�������/��
x-morph=”OSHM:HC/D” x-cantillationLevel=”1.0”
”strong=”c/589|������/�� x-morph=”OSHM:HC/Pp1cs”
”strong=”5650|��/�������� x-morph=”OSHM:HNcmsc/Sp2ms”
x-cantillationLevel=”1” strong=”c/6565|�����������/��
a” x-morph=”OSHM:HC/Vhp2ms” ”strong=”l|�/���
x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0.1”
”strong=”853|���� x-morph=”OSHM:HTo”
x-cantillationLevel=”0.0” ”strong=”6098|������
x-morph=”OSHM:HNcfsc” ”strong=”302|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
35 ”strong=”c/i/3808|�����/��/��
x-morph=”OSHM:HC/Ti/Tn” strong=”5973|���/�����
a” x-morph=”OSHM:HR/Sp2ms” x-cantillationLevel=”1.1.0”
”strong=”8033|����� x-morph=”OSHM:HD”
x-cantillationLevel=”1.1” ”strong=”6659|�������
x-morph=”OSHM:HNp” ”strong=”c/54|����������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”1.0”
”strong=”d/3548|����������/��
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1”
”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqp3ms”
x-cantillationLevel=”0.2.2” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”�������/���|strong=”d/1697”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.2.1”
strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”8085|���������� x-morph=”OSHM:HVqi2ms”
x-cantillationLevel=”0.2.0” strong=”m/1004|������/��
b” x-morph=”OSHM:HR/Ncmsc” ”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.2”
”strong=”5046|��������� x-morph=”OSHM:HVhi2ms”
x-cantillationLevel=”0.1” ”strong=”l/6659|�������/��
x-morph=”OSHM:HR/Np” ”strong=”c/l/54|����������/��/��

x-morph=”OSHM:HC/R/Np” x-cantillationLevel=”0.0”
”strong=”d/3548|����������/��
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0”�
36 ”strong=”2009|������ x-morph=”OSHM:HTm”������|strong=”8033”
x-morph=”OSHM:HD” strong=”5973|��/�����
a” x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1.2.0”
”strong=”8147|������� x-morph=”OSHM:HAcmdc”
strong=”1121|����/����� a” x-morph=”OSHM:HNcmpc/Sp3mp”
x-cantillationLevel=”1.2” ”strong=”290|�����������
x-morph=”OSHM:HNp” ”strong=”l/6659|�������/��
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.1”
”strong=”c/3083|����������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”1.0”
”strong=”l/54|����������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1” ”strong=”c/7971|������������/��
x-morph=”OSHM:HC/Vqp2mp” ”strong=”b/3027|��/����/���
x-morph=”OSHM:HR/Ncbsc/Sp3mp”
x-cantillationLevel=”0.1.0” ”strong=”413|�/�����
x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0.1”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”��������|strong=”1697”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0”
strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”8085|������������ x-morph=”OSHM:HVqi2mp”
x-cantillationLevel=”0”� 37 ”strong=”c/935|�������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”2365|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.0”
”strong=”7463|������ x-morph=”OSHM:HNcmsc”
”strong=”1732|������ x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” strong=”d/5892|�����/��
b” x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1”
”strong=”c/53|�����������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.1”
”strong=”935|������ x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”0.0” ”strong=”3389|�������������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�

16 ”strong=”c/1732|������/��
x-morph=”OSHM:HC/Np”
x-cantillationLevel=”1.1.1”

strong=”5674|������ a” x-
morph=”OSHM:HVqp3ms” ”strong=”4592|������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1.1.0” strong=”m/d/7218|������/��/���
a” x-morph=”OSHM:HR/Td/Ncmsa”

46c
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x-cantillationLevel=”1.1” ”strong=”c/2009|�������/��
x-morph=”OSHM:HC/Tm” ”strong=”6717|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.0”
”strong=”5288|������ x-morph=”OSHM:HNcmsc”
”+strong=”4648|����� x-
morph=”OSHM:HNp”��������|strong=”4648”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”l/7122|��/�������/��
x-morph=”OSHM:HR/Vqc/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/6776|������/��
x-morph=”OSHM:HC/Ncmsc”
”strong=”2543|��������� x-
morph=”OSHM:HNcbpa” x-
cantillationLevel=”0.0.1.0” ”strong=”2280|����������
x-morph=”OSHM:HVqsmpa” x-
cantillationLevel=”0.0.1” strong=”c/5921|����/�����/��
a” x-morph=”OSHM:HC/R/Sp3mp”
”strong=”3967|��������� x-
morph=”OSHM:HAcbda” ”strong=”3899|������
x-morph=”OSHM:HNcbsa” x-
cantillationLevel=”0.0.0.0” ”strong=”c/3967|������/��
x-morph=”OSHM:HC/Acbsa” ”strong=”6778|�����������
x-morph=”OSHM:HNcmpa” x-
cantillationLevel=”0.0.0” ”strong=”c/3967|������/��
x-morph=”OSHM:HC/Acbsa” ”strong=”7019|������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”0.0” strong=”c/5035|������/��
a” x-morph=”OSHM:HC/Ncmsc”
”strong=”3196|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 2
”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.0.0” ”strong=”413|���
x-morph=”OSHM:HR”��������|strong=”6717”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”4100|��� x-morph=”OSHM:HTi”��������|strong=”428”
x-morph=”OSHM:HPdxcp” ”strong=”l|��/����
x-morph=”OSHM:HR/Sp2fs” x-
cantillationLevel=”1” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”6717|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0.2.1.1”

”strong=”d/2543|����������/��
x-morph=”OSHM:HTd/Ncbpa”
strong=”l/1004|����/�� b” x-
morph=”OSHM:HR/Ncmsc”��������/���|strong=”d/4428”
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”0.2.1.0” ”strong=”l/7392|�������/��
x-morph=”OSHM:HR/Vqc” x-
cantillationLevel=”0.2.1” ”strong=”c/l/d/3899|���/�/�/�
x-morph=”OSHM:HC/R/Td/Ncbsa”
x-wType=”x-ketiv” 47 ”strong=”c/d/7019|��������/��/��
x-morph=”OSHM:HC/Td/Ncmsa” x-
cantillationLevel=”0.2.0” ”strong=”l/398|�������/��
x-morph=”OSHM:HR/Vqc” ”strong=”d/5288|����������/��
x-morph=”OSHM:HTd/Ncmpa” x-
cantillationLevel=”0.2” ”strong=”c/d/3196|�������/��/��
x-morph=”OSHM:HC/Td/Ncmsa” x-
cantillationLevel=”0.1” ”strong=”l/8354|���������/��
x-morph=”OSHM:HR/Vqc” ”strong=”d/3287|�������/��
x-morph=”OSHM:HTd/Aamsa” x-
cantillationLevel=”0.0” strong=”b/4057|����������/���
b” x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”0”� 3
”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.1” ”strong=”c/346|�������/��
x-morph=”OSHM:HC/Ti” x-
cantillationLevel=”1.0” strong=”1121|����
a” x-morph=”OSHM:HNcmsc”��/���������|strong=”113”
x-morph=”OSHM:HNcmpc/Sp2ms”
x-cantillationLevel=”1” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”6717|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0.3.1.0”
”strong=”413|��� x-morph=”OSHM:HR”��������/���|strong=”d/4428”
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”0.3.1” ”strong=”2009|�������
x-morph=”OSHM:HTm” x-cantillationLevel=”0.3.0”
”strong=”3427|�������� x-
morph=”OSHM:HVqrmsa” ”strong=”b/3389|������������/���
x-morph=”OSHM:HR/Np” x-
cantillationLevel=”0.3” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”559|������

47+ ”strong=”c/d/3899|�������/��/�����/�/�/� x-morph=”OSHM:HC/Td/Ncbsa”
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x-morph=”OSHM:HVqp3ms” x-
cantillationLevel=”0.2” ”strong=”d/3117|������/��
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”0.1.1” ”strong=”7725|����������
x-morph=”OSHM:HVhi3mp” ”strong=”l|��/��
x-morph=”OSHM:HR/Sp1cs” x-
cantillationLevel=”0.1.0” strong=”1004|������
b” x-morph=”OSHM:HNcmsc”
”strong=”3478|����������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”853|���� x-morph=”OSHM:HTo”
x-cantillationLevel=”0.0” ”strong=”4468|�����������
x-morph=”OSHM:HNcfsc” ”strong=”1|�/�����
x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”0”� 4
”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”d/4428|���������/��
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.2.0” ”strong=”l/6717|������/��
x-morph=”OSHM:HR/Np” x-
cantillationLevel=”1.2” ”strong=”2009|�������
x-morph=”OSHM:HTm” ”strong=”l|���/��
x-morph=”OSHM:HR/Sp2ms” x-
cantillationLevel=”1.1” ”strong=”3605|�����
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1.0” strong=”834|�������
a” x-morph=”OSHM:HTr” ”+strong=”l/4648|�����/��
x-morph=”OSHM:HR/Np”��������|strong=”4648”
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”6717|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
”strong=”7812|������������������
x-morph=”OSHM:HVvp1cs” x-
cantillationLevel=”0.1” ”strong=”4672|�������
x-morph=”OSHM:HVqi1cs”�����|strong=”2580”
x-morph=”OSHM:HNcmsa” strong=”b/5869|��/�������/���
a” x-morph=”OSHM:HR/Ncbdc/Sp2ms”
x-cantillationLevel=”0.0” ”strong=”113|�/�������
x-morph=”OSHM:HNcmsc/Sp1cs”
”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0”� 5
”strong=”c/935|����/�� x-

morph=”OSHM:HC/Vqp3ms” x-
cantillationLevel=”1.0.0” ”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa”
”strong=”1732|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”5704|��� x-morph=”OSHM:HR”�������������|strong=”980”
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/2009|�������/�� x-
morph=”OSHM:HC/Tm” ”strong=”m/8033|������/��
x-morph=”OSHM:HR/D” ”strong=”376|������
x-morph=”OSHM:HNcmsa” ”strong=”3318|�������
x-morph=”OSHM:HVqrmsa” x-
cantillationLevel=”0.1.1.0” ”strong=”m/4940|�������������/��
x-morph=”OSHM:HR/Ncfsc” strong=”1004|�����
b” x-morph=”OSHM:HNcmsc”���������|strong=”7586”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.1”
”strong=”c/8034|���/����/�� x-
morph=”OSHM:HC/Ncmsc/Sp3ms”
x-cantillationLevel=”0.1.0” ”strong=”8096|���������
x-morph=”OSHM:HNp” strong=”1121|���
a” x-morph=”OSHM:HNcmsc”��������|strong=”1617”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”3318|������ x-morph=”OSHM:HVqrmsa”
”strong=”3318|������� x-
morph=”OSHM:HVqa” x-cantillationLevel=”0.0”
”strong=”c/7043|���������/��
x-morph=”OSHM:HC/Vprmsa”
x-cantillationLevel=”0”� 6
”strong=”c/5619|���������/��
x-morph=”OSHM:HC/Vpw3ms”
”strong=”b/68|���������/����
x-morph=”OSHM:HRd/Ncfpa” x-
cantillationLevel=”1.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”��������|strong=”1732”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”c/853|���/�� x-
morph=”OSHM:HC/To”�����|strong=”3605”
x-morph=”OSHM:HNcmsc”���������|strong=”5650”
x-morph=”OSHM:HNcmpc” x-
cantillationLevel=”1.0” ”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa”
”strong=”1732|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/3605|���/�� x-
morph=”OSHM:HC/Ncmsc”����/���|strong=”d/5971
a” x-morph=”OSHM:HTd/Ncmsa” x-
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cantillationLevel=”0.1.0” ”strong=”c/3605|���/��
x-morph=”OSHM:HC/Ncmsc”�����������/���|strong=”d/1368”
x-morph=”OSHM:HTd/Aampa” x-
cantillationLevel=”0.1” ”strong=”m/3225|��/������/��
x-morph=”OSHM:HR/Ncfsc/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”c/m/8040|��/���������/��/��
x-morph=”OSHM:HC/R/Ncmsc/Sp3ms”
x-cantillationLevel=”0”� 7
”strong=”c/3541|����/�� x-
morph=”OSHM:HC/D”�������|strong=”559”
x-morph=”OSHM:HVqp3ms” ”strong=”8096|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”b/7043|��/�������/���
x-morph=”OSHM:HR/Vpc/Sp3ms”
x-cantillationLevel=”1” ”strong=”3318|����
x-morph=”OSHM:HVqv2ms” ”strong=”3318|����
x-morph=”OSHM:HVqv2ms” x-
cantillationLevel=”0.0.0” ”strong=”376|������
x-morph=”OSHM:HNcmsc” ”strong=”d/1818|��������/��
x-morph=”OSHM:HTd/Ncmpa” x-
cantillationLevel=”0.0” ”strong=”c/376|������/��
x-morph=”OSHM:HC/Ncmsc”
”strong=”d/1100|������������/��
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”0”� 8 ”strong=”7725|��������
x-morph=”OSHM:HVhp3ms” strong=”5921|��/������
a” x-morph=”OSHM:HR/Sp2ms”
”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2.1.1” ”strong=”3605|�����
x-morph=”OSHM:HNcmsc” x-cantillationLevel=”1.2.1.0”
� ”strong=”1818|������� x-
morph=”OSHM:HNcmpc” strong=”1004|����
b” x-morph=”OSHM:HNcmsc”���������|strong=”7586”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.1”
strong=”834|������� a” x-morph=”OSHM:HTr”
strong=”4427|����������� a” x-
morph=”OSHM:HVqp2ms” x-cantillationLevel=”1.2.0”
”strong=”8478|�/��� x-morph=”OSHM:HR/Sp3ms”
x-wType=”x-ketiv” 48 ”strong=”c/5414|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”853|��� x-morph=”OSHM:HTo”����������/���|strong=”d/4410”
x-morph=”OSHM:HTd/Ncfsa” x-
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53+ ”strong=”376|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0”
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cantillationLevel=”0”



126 CONTENTS

x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.1.0.1” ”strong=”853|���
x-morph=”OSHM:HTo”��������|strong=”3097”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0.0”
”strong=”c/853|���/�� x-
morph=”OSHM:HC/To”�����������|strong=”52”
x-morph=”OSHM:HNp” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”��������|strong=”863”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”l/559|�����/�� x-
morph=”OSHM:HR/Vqc” x-
cantillationLevel=”1.1” strong=”l/328|���/��
b” x-morph=”OSHM:HR/D”�/����|strong=”l”
x-morph=”OSHM:HR/Sp1cs” x-
cantillationLevel=”1.0” ”strong=”l/5288|�������/��
x-morph=”OSHM:HRd/Ncmsa”
”strong=”l/53|������������/��
x-morph=”OSHM:HR/Np” x-
cantillationLevel=”1” ”strong=”c/3605|���/��
x-morph=”OSHM:HC/Ncmsc”����/���|strong=”d/5971
a” x-morph=”OSHM:HTd/Ncmsa”
”strong=”8085|��������� x-
morph=”OSHM:HVqp3cp” x-
cantillationLevel=”0.0.1” ”strong=”b/6680|�������/���
x-morph=”OSHM:HR/Vpc” ”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”0.0.0” ”strong=”853|���
x-morph=”OSHM:HTo”�����|strong=”3605”
x-morph=”OSHM:HNcmsc”���������/���|strong=”d/8269”
x-morph=”OSHM:HTd/Ncmpa” x-
cantillationLevel=”0.0” strong=”5921|���
a” x-morph=”OSHM:HR”��������|strong=”1697”
x-morph=”OSHM:HNcmsc” ”strong=”53|������������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
6 ”strong=”c/3318|�������/��
x-morph=”OSHM:HC/Vqw3ms”
strong=”d/5971|����/�� a” x-
morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.0.0” strong=”d/7704|��������/��
b” x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.0” ”strong=”l/7125|�������/��
x-morph=”OSHM:HR/Vqc” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1”

”strong=”c/1961|�������/��
x-morph=”OSHM:HC/Vqw3fs”
”strong=”d/4421|�����������/��
x-morph=”OSHM:HTd/Ncfsa” x-
cantillationLevel=”0.0” strong=”b/3293|������/���
a” x-morph=”OSHM:HR/Ncmsc”
”strong=”669|���������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0”�
7 ”strong=”c/5062|������������/��
x-morph=”OSHM:HC/VNw3mp”
”strong=”8033|����� x-morph=”OSHM:HD”
x-cantillationLevel=”1.1.0” strong=”5971|����
a” x-morph=”OSHM:HNcmsc”
”strong=”3478|����������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”l/6440|������/�� x-
morph=”OSHM:HR/Ncbpc” x-
cantillationLevel=”1.0” ”strong=”5650|��������
x-morph=”OSHM:HNcmpc” ”strong=”1732|������
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/1961|������/�� x-
morph=”OSHM:HC/Vqw3fs”������|strong=”8033”
x-morph=”OSHM:HD” x-cantillationLevel=”0.0.0.0”
”strong=”d/4046|����������/��
x-morph=”OSHM:HTd/Ncfsa”
strong=”1419|��������� a”
x-morph=”OSHM:HAafsa” x-
cantillationLevel=”0.0.0” ”strong=”b/3117|������/���
x-morph=”OSHM:HRd/Ncmsa”
”strong=”d/1931|�����/�� x-
morph=”OSHM:HTd/Pp3ms” x-
cantillationLevel=”0.0” ”strong=”6242|����������
x-morph=”OSHM:HAcbpa” ”strong=”505|������
x-morph=”OSHM:HAcbsa” x-
cantillationLevel=”0”� 8 ”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqw3fs”������|strong=”8033”
x-morph=”OSHM:HD” ”strong=”d/4421|�����������/��
x-morph=”OSHM:HTd/Ncfsa” x-
cantillationLevel=”1.0.0” strong=”6327|�����
a” x-morph=”OSHM:HVNsfpa” x-
wType=”x-ketiv” 56 57 We read one
or more consonants in L differently
from BHS. strong=”5921|��� a” x-

56+ strong=”6327|������������� a” x-morph=”OSHM:HVNsfsa” x-
cantillationLevel=”1.0”
57k
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a” x-morph=”OSHM:HR”�������|strong=”376”
x-morph=”OSHM:HNcmsc” ”strong=”3063|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”l/7125|�������/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”0.0” ”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa” ”strong=”1732|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
18 83 KJV:2Sam.19.17 ”strong=”c/505|������/��
x-morph=”OSHM:HC/Acbsa” ”strong=”376|������
x-morph=”OSHM:HNcmsa” strong=”5973|���/����
a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.2.0”
”strong=”m/1144|�����������/��
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.2”
”strong=”c/6717|�������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”1.1.1” ”strong=”5288|������
x-morph=”OSHM:HNcmsc” x-cantillationLevel=”1.1.0”
strong=”1004|������ b” x-morph=”OSHM:HNcmsc”
”strong=”7586|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” ”strong=”c/2568|���������/��
x-morph=”OSHM:HC/Acmsc” ”strong=”6240|�������
x-morph=”OSHM:HAcmsa” strong=”1121|�/�������
a” x-morph=”OSHM:HNcmpc/Sp3ms”
x-cantillationLevel=”1.0.0” ”strong=”c/6242|����������/��
x-morph=”OSHM:HC/Acbpa” ”strong=”5650|�/��������
x-morph=”OSHM:HNcmpc/Sp3ms” x-
cantillationLevel=”1.0” ”strong=”854|��/�����
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1”
strong=”c/6743|��������/�� a” x-
morph=”OSHM:HC/Vqp3cp” ”strong=”d/3383|����������/��
x-morph=”OSHM:HTd/Np” x-cantillationLevel=”0.0”
”strong=”l/6440|������/�� x-morph=”OSHM:HR/Ncbpc”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0”� 19 84 KJV:2Sam.19.18
strong=”c/5674|��������/�� a” x-
morph=”OSHM:HC/Vqp3fs” ”strong=”d/5679|��������/��
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.1.1”
strong=”l/5674|�������/��� a” x-
morph=”OSHM:HR/Vhc” x-cantillationLevel=”1.1.0”
”strong=”853|��� x-morph=”OSHM:HTo”�������|strong=”1004
b” x-morph=”OSHM:HNcmsc” ”strong=”d/4428|��������/��
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x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1”
strong=”c/l/6213|��������/��/��
a” x-morph=”OSHM:HC/R/Vqc” strong=”d/2896|������/��
a” x-morph=”OSHM:HTd/Aamsa” x-cantillationLevel=”1.0”
strong=”b/5869|�/���/� a” x-morph=”OSHM:HR/Ncbdc/Sp3ms”
x-wType=”x-ketiv” 85 ”strong=”c/8096|���������/��
x-morph=”OSHM:HC/Np” strong=”1121|���
a” x-morph=”OSHM:HNcmsc”��������|strong=”1617”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.1”
”strong=”5307|������ x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”0.1.0” ”strong=”l/6440|������/��
x-morph=”OSHM:HR/Ncbpc” ”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1”
strong=”b/5674|��/������/��� a”
x-morph=”OSHM:HR/Vqc/Sp3ms” x-
cantillationLevel=”0.0” ”strong=”b/3383|����������/���
x-morph=”OSHM:HRd/Np” x-cantillationLevel=”0”�
20 86 KJV:2Sam.19.19 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”413|���
x-morph=”OSHM:HR”��������/���|strong=”d/4428”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.3.1”
”strong=”408|��� x-morph=”OSHM:HTn”���������|strong=”2803”
x-morph=”OSHM:HVqj3ms”�/����|strong=”l”
x-morph=”OSHM:HR/Sp1cs” ”strong=”113|��/������
x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1.3.0”
”strong=”5771|������ x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”1.3” ”strong=”c/408|���/��
x-morph=”OSHM:HC/Tn”�����������|strong=”2142”
x-morph=”OSHM:HVqj2ms” x-cantillationLevel=”1.2.1”
”strong=”853|���� x-morph=”OSHM:HTo”
x-cantillationLevel=”1.2.0” strong=”834|�������
a” x-morph=”OSHM:HTr” strong=”5753|��������
b” x-morph=”OSHM:HVhp3ms” ”strong=”5650|���/�������
x-morph=”OSHM:HNcmsc/Sp2ms” x-
cantillationLevel=”1.2” ”strong=”b/3117|������/���
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.1”
strong=”834|������ a” x-morph=”OSHM:HTr”����������|strong=”3318”
x-morph=”OSHM:HVqp3ms” 87 ”strong=”113|�/�������
x-morph=”OSHM:HNcmsc/Sp1cs”��������/���|strong=”d/4428”

x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0”
”strong=”m/3389|�������������/��
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1”
strong=”l/7760|������/�� a” x-morph=”OSHM:HR/Vqc”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.0” ”strong=”413|���
x-morph=”OSHM:HR”��/������|strong=”3820
a” x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0”� 21 88 KJV:2Sam.19.20
strong=”3588|����� a” x-morph=”OSHM:HC”
x-cantillationLevel=”1.1.0” ”strong=”3045|������
x-morph=”OSHM:HVqp3ms” ”strong=”5650|���/�������
x-morph=”OSHM:HNcmsc/Sp2ms” x-
cantillationLevel=”1.1” strong=”3588|�����
a” x-morph=”OSHM:HC” x-cantillationLevel=”1.0”
”strong=”589|������ x-morph=”OSHM:HPp1cs”
”strong=”2398|��������� x-morph=”OSHM:HVqp1cs”
x-cantillationLevel=”1” ”strong=”c/2009|�������/��
x-morph=”OSHM:HC/Tm”��������|strong=”935”
x-morph=”OSHM:HVqp1cs” ”strong=”d/3117|������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.2.1”
”strong=”7223|��������� x-morph=”OSHM:HAamsa”
x-cantillationLevel=”0.2.0” ”strong=”l/3605|���/��
x-morph=”OSHM:HR/Ncmsc”�������|strong=”1004
b” x-morph=”OSHM:HNcmsc” ”strong=”3130|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.2”
”strong=”l/3381|������/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”0.1” ”strong=”l/7125|�������/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0.0”
”strong=”113|�/������� x-morph=”OSHM:HNcmsc/Sp1cs”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0”� � 22 89 KJV:2Sam.19.21
strong=”c/6030|�������/�� b” x-morph=”OSHM:HC/Vqw3ms”
”strong=”52|���������� x-morph=”OSHM:HNp”
strong=”1121|���� a” x-morph=”OSHM:HNcmsc”����������|strong=”6870”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.0”
”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.2” ”strong=”i/8478|������/��
x-morph=”OSHM:HTi/R” ”strong=”2063|�����

85+ strong=”b/5869|�/�������/����/���/� a” x-morph=”OSHM:HR/Ncbdc/Sp3ms” x-
cantillationLevel=”1”
86+
874 Puncta extraordinaria – a 0̆5c4 is used to mark such marks in the text when they are above
the line and a 0̆5c5 when they are below the line.
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x-morph=”OSHM:HPdxfs” x-cantillationLevel=”1.1”
”strong=”3808|���� x-morph=”OSHM:HTn”
”strong=”4191|������� x-morph=”OSHM:HVHi3ms”
x-cantillationLevel=”1.0” ”strong=”8096|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
strong=”3588|����� a” x-morph=”OSHM:HC”
”strong=”7043|������� x-morph=”OSHM:HVpp3ms”
x-cantillationLevel=”0.0” ”strong=”853|���
x-morph=”OSHM:HTo”����������|strong=”4899”
x-morph=”OSHM:HNcmsc” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
� 23 90 KJV:2Sam.19.22 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”1732|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1”
”strong=”4100|��� x-morph=”OSHM:HTi”�/�����|strong=”l”
x-morph=”OSHM:HR/Sp1cs” ”strong=”c/l|����/��/��
x-morph=”OSHM:HC/R/Sp2mp” x-cantillationLevel=”1.1.0”
strong=”1121|������� a” x-morph=”OSHM:HNcmpc”
”strong=”6870|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” strong=”3588|����
a” x-morph=”OSHM:HC”���������|strong=”1961”
x-morph=”OSHM:HVqi2mp”�/����|strong=”l”
x-morph=”OSHM:HR/Sp1cs” ”strong=”d/3117|������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0”
”strong=”l/7854|�������/�� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”1” ”strong=”d/3117|������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.2.1”
”strong=”4191|������� x-morph=”OSHM:HVHi3ms”
”strong=”376|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.2.0” ”strong=”b/3478|�����������/���
x-morph=”OSHM:HR/Np” x-cantillationLevel=”0.2”
strong=”3588|����� a” x-morph=”OSHM:HC”
x-cantillationLevel=”0.1.0” ”strong=”i/3808|�����/��
x-morph=”OSHM:HTi/Tn” ”strong=”3045|�����������
x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”0.1”
strong=”3588|����� a” x-morph=”OSHM:HC”
”strong=”d/3117|������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.0” ”strong=”589|�����
x-morph=”OSHM:HPp1cs”��������|strong=”4428”
x-morph=”OSHM:HNcmsa” strong=”5921|���
a” x-morph=”OSHM:HR”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�

24 91 KJV:2Sam.19.23 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0.0”
”strong=”413|��� x-morph=”OSHM:HR”����������|strong=”8096”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”3808|���� x-morph=”OSHM:HTn”
”strong=”4191|������� x-morph=”OSHM:HVqi2ms”
x-cantillationLevel=”1” ”strong=”c/7650|������������/��
x-morph=”OSHM:HC/VNw3ms” ”strong=”l|��/��
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.0”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0”� � 25 92 KJV:2Sam.19.24
”strong=”c/4648|������������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”1.1.0”
strong=”1121|���� a” x-morph=”OSHM:HNcmsc”���������|strong=”7586”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”3381|������ x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”1.0” ”strong=”l/7125|�������/��
x-morph=”OSHM:HR/Vqc” ”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1”
”strong=”c/3808|���/�� x-morph=”OSHM:HC/Tn”��������|strong=”6213
a” x-morph=”OSHM:HVqp3ms” ”strong=”7272|�/��������
x-morph=”OSHM:HNcfdc/Sp3ms” x-cantillationLevel=”0.2.1.0”
”strong=”c/3808|���/�� x-morph=”OSHM:HC/Tn”��������|strong=”6213
a” x-morph=”OSHM:HVqp3ms” ”strong=”8222|��/�������
x-morph=”OSHM:HNcmsc/Sp3ms” x-
cantillationLevel=”0.2.1” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”��/���������|strong=”899
b” x-morph=”OSHM:HNcmpc/Sp3ms”
x-cantillationLevel=”0.2.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”3526|�������
x-morph=”OSHM:HVpp3ms” x-cantillationLevel=”0.2”
strong=”l/4480|���/�� a” x-morph=”OSHM:HR/R”������/���|strong=”d/3117”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1.0”
”strong=”3212|������ x-morph=”OSHM:HVqc”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1” ”strong=”5704|���
x-morph=”OSHM:HR”������/���|strong=”d/3117”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0”
strong=”834|������ a” x-morph=”OSHM:HTr”������|strong=”935”
x-morph=”OSHM:HVqp3ms” ”strong=”b/7965|��������/��
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0”�
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26 93 KJV:2Sam.19.25 ”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.0.0”
strong=”3588|���� a” x-morph=”OSHM:HC”�����|strong=”935”
x-morph=”OSHM:HVqp3ms” ”strong=”3389|�������������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”l/7125|�������/�� x-morph=”OSHM:HR/Vqc”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”l|���/�
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.1.0”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1” ”strong=”l/4100|����/���
x-morph=”OSHM:HR/Ti” x-cantillationLevel=”0.0.0”
”strong=”3808|��� x-morph=”OSHM:HTn”�����������|strong=”1980”
x-morph=”OSHM:HVqp2ms” strong=”5973|�/������
a” x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0.0”
”strong=”4648|������������ x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 27 94 KJV:2Sam.19.26
”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.1” ”strong=”113|�/�������
x-morph=”OSHM:HNcmsc/Sp1cs” ”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0”
”strong=”5650|�/�������� x-morph=”OSHM:HNcmsc/Sp1cs”
strong=”7411|���/������ b” x-morph=”OSHM:HVpp3ms/Sp1cs”
x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC”�������|strong=”559”
x-morph=”OSHM:HVqp3ms” ”strong=”5650|���/�������
x-morph=”OSHM:HNcmsc/Sp2ms” x-
cantillationLevel=”0.1.0.0” ”strong=”2280|�����������
x-morph=”OSHM:HVqi1cs”��/����|strong=”l”
x-morph=”OSHM:HR/Sp1cs” ”strong=”d/2543|�������/��
x-morph=”OSHM:HTd/Ncbsa” ”strong=”c/7392|���������/��
x-morph=”OSHM:HC/Vqi1cs” strong=”5921|���/������
a” x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”0.1.0”
”strong=”c/3212|�������/�� x-morph=”OSHM:HC/Vqi1cs”
”strong=”854|��� x-morph=”OSHM:HR”��������/���|strong=”d/4428”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1”
strong=”3588|����� a” x-morph=”OSHM:HC”
”strong=”6455|�������� x-morph=”OSHM:HAamsa”
x-cantillationLevel=”0.0” ”strong=”5650|��/��������
x-morph=”OSHM:HNcmsc/Sp2ms” x-
cantillationLevel=”0”� 28 95 KJV:2Sam.19.27
”strong=”c/7270|���������/�� x-

morph=”OSHM:HC/Vpw3ms” ”strong=”b/5650|���/�������/���
x-morph=”OSHM:HR/Ncmsc/Sp2ms”
x-cantillationLevel=”1.1” ”strong=”413|���
x-morph=”OSHM:HR”�/��������|strong=”113”
x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1.0”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1” ”strong=”c/113|�/������/��
x-morph=”OSHM:HC/Ncmsc/Sp1cs”
”strong=”d/4428|���������/�� x-
morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1.0”
”strong=”k/4397|���������/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”d/430|���������/��
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.1”
strong=”c/6213|�������/�� a” x-morph=”OSHM:HC/Vqv2ms”
strong=”d/2896|������/�� a” x-morph=”OSHM:HTd/Aamsa”
x-cantillationLevel=”0.0” strong=”b/5869|��/�������/���
a” x-morph=”OSHM:HR/Ncbdc/Sp2ms”
x-cantillationLevel=”0”� 29 96 KJV:2Sam.19.28
strong=”3588|����� a” x-morph=”OSHM:HC”
”strong=”3808|���� x-morph=”OSHM:HTn”
”strong=”1961|������ x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”1.2.1.0” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”�������|strong=”1004
b” x-morph=”OSHM:HNcmsc” ”strong=”1|�/�����
x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1.2.1”
strong=”3588|����� b” x-morph=”OSHM:HC”
strong=”518|��� b” x-morph=”OSHM:HC”���������|strong=”376”
x-morph=”OSHM:HNcmpc”��������|strong=”4194”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.2.0”
”strong=”l/113|�/������/�� x-morph=”OSHM:HR/Ncmsc/Sp1cs”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.2” ”strong=”c/7896|���������/��
x-morph=”OSHM:HC/Vqw2ms” x-cantillationLevel=”1.1.0”
”strong=”853|���� x-morph=”OSHM:HTo”���/��������|strong=”5650”
x-morph=”OSHM:HNcmsc/Sp2ms” x-
cantillationLevel=”1.1” ”strong=”b/398|��������/���
x-morph=”OSHM:HR/Vqrmpc” x-cantillationLevel=”1.0”
”strong=”7979|��/���������� x-
morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”1”
”strong=”c/4100|���/�� x-morph=”OSHM:HC/Ti”������|strong=”3426”
x-morph=”OSHM:HTm”�/����|strong=”l”
x-morph=”OSHM:HR/Sp1cs” ”strong=”5750|�����
x-morph=”OSHM:HD” x-cantillationLevel=”0.1.0”
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”strong=”6666|�������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0.1” ”strong=”c/l/2199|������/��/��
x-morph=”OSHM:HC/R/Vqc” ”strong=”5750|�����
x-morph=”OSHM:HD” x-cantillationLevel=”0.0”
”strong=”413|��� x-morph=”OSHM:HR”��������/���|strong=”d/4428”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”�
� 30 97 KJV:2Sam.19.29 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”l|���/�
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.1.0”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1” ”strong=”l/4100|����/���
x-morph=”OSHM:HR/Ti” x-cantillationLevel=”1.0.0”
”strong=”1696|���������� x-morph=”OSHM:HVpi2ms”
”strong=”5750|����� x-morph=”OSHM:HD”
x-cantillationLevel=”1.0” ”strong=”1697|��/���������
x-morph=”OSHM:HNcmpc/Sp2ms” x-
cantillationLevel=”1” ”strong=”559|�����������
x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”0.2”
strong=”859|������� a” x-morph=”OSHM:HPp2ms”
”strong=”c/6717|�������/�� x-morph=”OSHM:HC/Np”
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cantillationLevel=”1” ”strong=”c/8085|����������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”m/1964|���/�������/��
x-morph=”OSHM:HR/Ncmsc/Sp3ms”
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x-cantillationLevel=”0.0” ”strong=”b/241|�/��������/���
x-morph=”OSHM:HR/Ncfdc/Sp3ms”
x-cantillationLevel=”0”� 8
”strong=”c/1607|����/� x-
morph=”OSHM:HC/Vqw3fs” x-
wType=”x-ketiv” 133 134 BHS has
been faithful to the Leningrad Codex
where there might be a question

133+ ”strong=”c/1607|�������������/������/� x-morph=”OSHM:HC/Vtw3ms”
1341
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of the validity of the form and we
keep the same form as BHS. 135
”strong=”c/7493|����������/��
x-morph=”OSHM:HC/Vqw3fs” x-
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cantillationLevel=”1.1” ”strong=”4146|����������
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a” x-morph=”OSHM:HC”�������|strong=”2734”
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a” x-morph=”OSHM:HVqp3cp”
strong=”4480|����/������
a” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0”� 10
”strong=”c/5186|�����/�� x-
morph=”OSHM:HC/Vqw3ms”
”strong=”8064|��������� x-
morph=”OSHM:HNcmpa” x-
cantillationLevel=”1.0” ”strong=”c/3381|�������/��
x-morph=”OSHM:HC/Vqw3ms” x-
cantillationLevel=”1” ”strong=”c/6205|��������/��
x-morph=”OSHM:HC/Ncmsa” x-

cantillationLevel=”0.0” ”strong=”8478|�������
x-morph=”OSHM:HR” ”strong=”7272|�/��������
x-morph=”OSHM:HNcfdc/Sp3ms”
x-cantillationLevel=”0”� 11
”strong=”c/7392|����������/��
x-morph=”OSHM:HC/Vqw3ms”
strong=”5921|��� a” x-morph=”OSHM:HR”���������|strong=”3742”
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1.0” strong=”c/5774|�������/��
a” x-morph=”OSHM:HC/Vqw3ms” x-
cantillationLevel=”1” ”strong=”c/7200|�������/��
x-morph=”OSHM:HC/VNw3ms” x-
cantillationLevel=”0.0” strong=”5921|���
a” x-morph=”OSHM:HR”���������|strong=”3671”
x-morph=”OSHM:HNcfdc”�������|strong=”7307”
x-morph=”OSHM:HNcbsa” x-
cantillationLevel=”0”� 12
”strong=”c/7896|��������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”2822|�������� x-
morph=”OSHM:HNcmsa” x-
cantillationLevel=”1.0.0” ”strong=”5439|�/�����������
x-morph=”OSHM:HNcbpc/Sp3ms” x-
cantillationLevel=”1.0” ”strong=”5521|��������
x-morph=”OSHM:HNcfpa” x-
cantillationLevel=”1” ”strong=”2841|���������
x-morph=”OSHM:HNcfsc”�������|strong=”4325”
x-morph=”OSHM:HNcmpa” x-
cantillationLevel=”0.0” ”strong=”5645|������
x-morph=”OSHM:HNcbpc” ”strong=”7834|����������
x-morph=”OSHM:HNcmpa” x-
cantillationLevel=”0”� 13
”strong=”m/5051|��������/��
x-morph=”OSHM:HR/Ncfsa” x-
cantillationLevel=”1.0” ”strong=”5048|��/�������
x-morph=”OSHM:HR/Sp3ms” x-
cantillationLevel=”1” strong=”1197|���������
a” x-morph=”OSHM:HVqp3cp” x-
cantillationLevel=”0.0” ”strong=”1513|��������
x-morph=”OSHM:HNcbpc”������|strong=”784”
x-morph=”OSHM:HNcbsa” x-cantillationLevel=”0”�
14 ”strong=”7481|�������� x-
morph=”OSHM:HVhi3ms” strong=”4480|���
a” x-morph=”OSHM:HR”����������|strong=”8064”

135a Adaptations to a Qere which L and BHS, by their design, do not indicate.
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x-morph=”OSHM:HNcmpa” x-
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”strong=”b/1606|��������/���
x-morph=”OSHM:HR/Ncfsc” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”m/5397|����������/��
x-morph=”OSHM:HR/Ncfsc” x-cantillationLevel=”0.0”
”strong=”7307|������ x-morph=”OSHM:HNcbsc”
”strong=”639|��/����� x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0”� 17 ”strong=”7971|���������
x-morph=”OSHM:HVqi3ms” ”strong=”m/4791|��������/��
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1.0”
”strong=”3947|���/�������� x-
morph=”OSHM:HVqi3ms/Sp1cs” x-
cantillationLevel=”1” ”strong=”4871|���/���������
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a” x-morph=”OSHM:HAampa” x-cantillationLevel=”0”�
18 ”strong=”5337|���/���������
x-morph=”OSHM:HVhi3ms/Sp1cs” x-
cantillationLevel=”1.1” ”strong=”m/341|�/�������/��
x-morph=”OSHM:HR/Vqrmsc/Sp1cs”
x-cantillationLevel=”1.0” ”strong=”5794|����
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a” x-morph=”OSHM:HC” ”strong=”553|��������
x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”0.0”
strong=”4480|����/������ a” x-
morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0”�
19 ”strong=”6923|���/����������
x-morph=”OSHM:HVpi3mp/Sp1cs”
x-cantillationLevel=”1.0” ”strong=”b/3117|�����/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”343|�/������
x-morph=”OSHM:HNcmsc/Sp1cs” x-
cantillationLevel=”1” ”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.0”
strong=”4937|��������� a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” ”strong=”l|�/���
x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0”�
20 ”strong=”c/3318|�������/�� x-
morph=”OSHM:HC/Vhw3ms” ”strong=”l/4800|���������/��
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.0”
”strong=”853|�/����� x-morph=”OSHM:HTo/Sp1cs”
x-cantillationLevel=”1” strong=”2502|���/����������
a” x-morph=”OSHM:HVpi3ms/Sp1cs”
x-cantillationLevel=”0.0” strong=”3588|����
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a” x-morph=”OSHM:HVqp3ms” ”strong=”b|�/����
x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0”�
21 ”strong=”1580|���/���������
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x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
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x-morph=”OSHM:HR/Ncfsc/Sp1cs” x-
cantillationLevel=”1” ”strong=”k/1252|����/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”3027|�/�����
x-morph=”OSHM:HNcbdc/Sp1cs” x-cantillationLevel=”0.0”

136+ ”strong=”c/2000|�������/���/���/� x-morph=”OSHM:HC/Vhw3ms” x-
cantillationLevel=”0”
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”strong=”7725|�������� x-morph=”OSHM:HVhi3ms”
”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”0”� 22 strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”8104|������������
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x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”0.0”
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morph=”OSHM:HR/Ncmpc/Sp1cs” x-
cantillationLevel=”0”� 23 strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”3605|���
x-morph=”OSHM:HNcmsc”�/�����|strong=”4941”
x-morph=”OSHM:HNcmsc/Sp3ms” x-
wType=”x-ketiv” 137 ”strong=”l/5048|�/��������/��
x-morph=”OSHM:HR/R/Sp1cs” x-cantillationLevel=”1”
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x-morph=”OSHM:HC/Ncbpc/Sp3ms”
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x-morph=”OSHM:HR/Ncbsc/Sp1cs”
x-cantillationLevel=”0”� 25 ”strong=”c/7725|��������/��
x-morph=”OSHM:HC/Vhw3ms” ”strong=”3068|�������
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”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1.0” ”strong=”k/6666|�/���������/���
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a” x-morph=”OSHM:HR”��������|strong=”2623”
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a” x-morph=”OSHM:HR”��������|strong=”7311
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x-morph=”OSHM:HVhi2ms” x-cantillationLevel=”0”�
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a” x-morph=”OSHM:HPp2ms” strong=”5216|�/������
a” x-morph=”OSHM:HNcmsc/Sp1cs” x-
cantillationLevel=”1.0” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
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x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1”
”strong=”b/430|�/������/��� x-morph=”OSHM:HR/Ncmpc/Sp1cs”

137+ ”strong=”4941|�/�������������/���� x-morph=”OSHM:HNcmpc/Sp3ms” x-
cantillationLevel=”1.0”
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”strong=”d/2620|�������/�� x-morph=”OSHM:HTd/Vqrmpa”
”strong=”b|��/��� x-morph=”OSHM:HR/Sp3ms”
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read one or more accents in L dif-

153c
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”strong=”d/1241|�������/�� x-morph=”OSHM:HTd/Ncbsa”
strong=”l/5930|������/�� a” x-morph=”OSHM:HRd/Ncfsa”
x-cantillationLevel=”0.1” ”strong=”c/d/4173|�����������/��/��
x-morph=”OSHM:HC/Td/Ncmpa” x-cantillationLevel=”0.0.0”
”strong=”c/3627|������/�� x-morph=”OSHM:HC/Ncmpc”
”strong=”d/1241|�������/�� x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”0.0” ”strong=”l/6086|�������/��
x-morph=”OSHM:HRd/Ncmpa” x-cantillationLevel=”0”�
23 ”strong=”d/3605|�����/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.0.1” ”strong=”5414|������
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.0.0”
”strong=”728|���������� x-morph=”OSHM:HNp”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.0” ”strong=”l/4428|��������/��
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1”
� ”strong=”c/559|��������/�� x-
morph=”OSHM:HC/Vqw3ms” ”strong=”728|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
”strong=”413|��� x-morph=”OSHM:HR”��������/���|strong=”d/4428”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1”
”strong=”3068|������� x-morph=”OSHM:HNp”
”strong=”430|��/�������� x-morph=”OSHM:HNcmpc/Sp2ms”
x-cantillationLevel=”0.0” ”strong=”7521|��/�������
x-morph=”OSHM:HVqi3ms/Sp2ms” x-
cantillationLevel=”0”� 24 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.2.0”
”strong=”413|��� x-morph=”OSHM:HR”�����������|strong=”728”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.2”
”strong=”3808|���� x-morph=”OSHM:HTn”
x-cantillationLevel=”1.1.1” 159We read
one ormore accents in L differently than
BHS. Often this notation indicates a typo-
graphical error in BHS. strong=”3588|�����
a” x-morph=”OSHM:HC”�������|strong=”7069”
x-morph=”OSHM:HVqa” ”strong=”7069|��������
x-morph=”OSHM:HVqi1cs” ”strong=”m/854|���/������/��
x-morph=”OSHM:HR/R/Sp2ms” x-cantillationLevel=”1.1.0”
”strong=”b/4242|�������/��� x-morph=”OSHM:HR/Ncmsa”

158+ strong=”b/5869|�/�������/����/���/� a” x-morph=”OSHM:HR/Ncbdc/Sp3ms” x-
cantillationLevel=”1”
159c
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x-cantillationLevel=”1.1” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” ”strong=”5927|��������
x-morph=”OSHM:HVhi1cs” x-cantillationLevel=”1.0.0”
”strong=”l/3068|������/�� x-morph=”OSHM:HR/Np”
”strong=”430|�/������� x-morph=”OSHM:HNcmpc/Sp1cs”
x-cantillationLevel=”1.0” strong=”5930|�������
a” x-morph=”OSHM:HNcfpa” ”strong=”2600|�������
x-morph=”OSHM:HD” x-cantillationLevel=”1”
”strong=”c/7069|�������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”1732|������� x-morph=”OSHM:HNp”
”strong=”853|��� x-morph=”OSHM:HTo”��������/���|strong=”d/1637”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0.1.0”
”strong=”c/853|���/�� x-morph=”OSHM:HC/To”�������/���|strong=”d/1241”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0.1”
”strong=”b/3701|������/��� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”0.0” ”strong=”8255|����������
x-morph=”OSHM:HNcmpa” ”strong=”2572|�����������
x-morph=”OSHM:HAcbpa” x-cantillationLevel=”0”�
25 ”strong=”c/1129|�������/�� x-
morph=”OSHM:HC/Vqw3ms” ”strong=”8033|�����

x-morph=”OSHM:HD” ”strong=”1732|�������
x-morph=”OSHM:HNp” ”strong=”4196|�����������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1.0”
”strong=”l/3068|������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.1” ”strong=”c/5927|�������/��
x-morph=”OSHM:HC/Vhw3ms” strong=”5930|�������
a” x-morph=”OSHM:HNcfpa” x-cantillationLevel=”1.0”
”strong=”c/8002|����������/��
x-morph=”OSHM:HC/Ncmpa” x-cantillationLevel=”1”
”strong=”c/6279|���������/�� x-
morph=”OSHM:HC/VNw3ms” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
”strong=”l/776|������/�� x-morph=”OSHM:HRd/Ncbsa”
x-cantillationLevel=”0.1” ”strong=”c/6113|���������/��
x-morph=”OSHM:HC/VNw3fs” ”strong=”d/4046|����������/��
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.0”
strong=”m/5921|����/�� a” x-morph=”OSHM:HR/R”
”strong=”3478|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”�


